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(] Fb=21. 6N/am 2 . Kd=1.60 . Kz=0 84 . Ks=1.00
429574. 3 (m
o = 1.7 e ..
o 248260 00(Z) JT3/am°2 fb = & BEN'ar 2

WELk =173 - 96 =018 = 1.0 - - 0K

[#=d2d+] 1=1737 9, E=9R0 O kN'cm™2
HEbhHE = 040 om RN 1/ 2250 5D 200 emblF
JmK=tHHE = 00194 cm
00194 ~040=005<100 - 0K
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2)(13.81 1710 /1 171.0
311455.00 3141.5 © 2272.0
411810.0] 3395.2  2526.7
§111365.0] 3235.7  2366.2
6)[1706.3] 171.0 / 171.0
7)11820.0] 5332.4 = 44629

&5 (Gl ER  chamN

EER haRMN
10 0.0] 58954 / 4605.7 110 0.0] 58954 / 4605.7
2112275 1881.8  1302.2 ki 5118818 / 1302.2
31682.5] 1881.8 / 1302.2 ) 5] 1861.8 /1302 2
4)11023,8] 122.0 / 122.0 4)[10%3 8] 122.0 / 122.0
5)[1137.5] 616.3 / 4351 51[1137.5] 616,3 / 4351
&5 (MEEER  haREN 5 (AEIXER / -hAEN
[BAHF] Fs=1 8N/mm"2 . Kd=1.10 ., Kz=1 0 (A8 Fs=1 8N'mmn"2 . Kd=1 60 . Kz=1 0
15 x 2270.4(Q) i 5 1.5 x 2270.4iQ) 5 5
t= =0 =0 ‘mm" 2 = = 0. = 00 O6N/mR"?
1064000 (A ) 0.32N/mm"2  fs = 0 66N/mm T 10640 00 (A} 0.32N‘mm"2 s = 0 96N/mm
WEL =0.32 - 0.66=0.48 < 1.00 - - - OK WEL =032 -09% =033 <100 - --0K
[BBF] Fo=21.6N/am"2 | Hd=1.10 . Kz=0.84 . Ks=1.00 (#8147 Fb=21. 6N/mm 2 , Kd=1.60 . Kz=0 84 . Ks=1.00
693314. 8(M ] ) . 693314 8(M ' ; -
208260.00(2) 2.79N/mm"2  fb = 6 65N/mm"Z 248260.00( 2] 2.79N/mm"2  fb = 9 BEN'mm"2
WEL =279 - 6656=042 = 100 - - - OK WEL =279 - 96E=029 £ 100 - OK
[#=4o2+] 1=1737.9 | E=960.0 kN/cm 2 [#=t>+] 1=1737.9 , E=960 0 kN/cm'2
HE-bHE = 0.38 eniRALOD 1/ 3000 B 100 emBl T HEbHE = 0.5 cmlRALOD 1/ 225) D L0 embl T
J\Ki=t#HE = 00641 cm B\KXi=-tHHE = 00641 cm
0.0641 .~ 0.38=0.17 £ 1.00 - - - OK 0.0641 - 0.51 =013 =100 - - -0OK
E CEAF-18O - £ CEAF-18O .
S-P-F HiE2%k 2-210 S-P-F ERfE2#k 2-210
LY YI~Y3 ALEL YI~Y]
i 2 } ‘ X ] H H ‘ 3 &
‘ | | | | | |
1G272.0 / 80582 111943 ; 8020.6 13356 / 91618
| A 421820, 0 | A rALz1820 0
e ™ BEM bARN e BEM bARN
10 0.0] §238.2 / 4368.7

8 52811
Q[M3E e g
3)[455 0] 31416/ 2272 &
4)[910 0] 3395 2/ 2625 7
5) (1365 0] 3235 7  23§6.2
B) (1706.3] 1700 / 171.0
7)(1820.0] 6254 8 53853

&5 [GAIEEM  fbamN

[t ABR] Fs=1 8Nan 2 . Kd=1.10 . Kz=1 0
1.5 x 5080.8(Q)
17860. 00 (A
L = 043 - 066 = 0.

s = 0. 43'mm2  fs = 0 66N/mn 2

)

5= 1.0 ---0K

(2 ABR] Fs=1 BN/mm 2 . Kd=1 60 , Kz=1 0
15 x 5080.8(Q)
17860.00( A}
BEL =043 - 096 =044 <

T o= = {. 43N 'mn 2

100 - - - 2K

fs = 0 96N/mm"2

®EL =431 - 530=08 = 1.0 --+0K

[1=42d+] 1=8219.3 . E=960.0 kN.cm™2

HBrbhHE = 0.61 oniR/AVGD 1/ 3000 A2 100 el F
WA HE = 01361 om

0.1361 .~ 0.61 =0.22 £1.00 - - - OK

[BBIF] Fh=21.6N/mr"2 | Kd=110  Kr=D 6B . Ks=1.00 [#B{] Fb=21 6N/am"2 = Kd=1.60 . Kz=0.868 . Ks=1.00
3015122 5{M} i ¥ ) s 2015122 §{M) . .
g = 699510.00:\'2'_ = 4. 3IN'mm"2  fb = 5 39N/mam"F g = =4 3IN/'mm2  fb =7 83N/mmn"2

699510 00{Z)
WEL =431 - 78=05 £
[t-do#t] 1=8219 3 . E=960 0 kN/cm™2
HEhHE = 0.8 cm(RAVD I
BXbHHE = 01361 cm
0.1361 . 0,81 =017 = 1.00 - -

100 - - - DK

2250 52 2 00 emilF

s OK
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3)[455.07 1043.9 © 899.0
4)1796.3] 122.0 / 122.0
5/[910.07 813.1 / 7407

EF5 [DHHER | hAEN
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3)[455,0] 1043.9 / 899.0
41[796.3] 122.0 © 122.0
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W ABR] Fs=) 8N/mn 2 . Kd=1.10 . Kz=1 0
15 x 644 0{Q) : ;
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10610 00 ) " 00N fs = 0 66Nan

BEL =009 .~ 066=014 < 1.00 - - - OK

[ghif] Fb=21.6N/mm"2 . Kd=1 10 ., Kz=0 84 _ Ks=1.00
251367 2(M
248260.00(2"
®EL =100 - 665=015 = 100 - - - OK

= 1L.0IN‘mm'2  fb = 6 65N/mm"Z

(A8 Fs=1 8N‘am 2 . Kd=1.60 . Kz=1 0
1.5 x 644.0(Q! i 5
= =0 = 0. 96N/an "2
T 10640 00 (A} 0.09N‘mm"2  fs = 0 96N/mm

REL =009 - 0.96=009 £ 1.00 - - 0K

[#5] Fo=21 6N/mm"2 , Kd=1.60 . Kz=0 84 ., Ks=1.00

251367 2 (M EaLaT i .
2dg260 00(z]  ON/AM2 fo = 9 6EN/an2

BEL =100 - 96E=010 =< 1.00 + + - OK

[F=td+] 1=1737.9 . E=960.0 kN./cm 2
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BEL = 0.95 - 6.65=014 < 1.00 - - + OK
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HBbhHE = 0.61 oniRALD 1/ 3000 A2 100 emklF
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0.0514 .~ 0.61 =0.08 £1.00 - - -0OK

[#HiH7 Fb=21. 6N/mm"2 | Kd=1.60 . Kz=0.84 . Ks=1.00
235933 5 (w1 _ = 3
YT 00z = 0.95/om'2  fb = & GEN'nr 2

REL =09 - 96 =010= 100 - - 0K

[#=d2d+] 1=1737 9, E=9R0 O kN'cm™2
HBrbhHE = 081 omRALD 1/ 25 5D 200 emklF
BX-bH&E = 00514 cm
d.05'4 08 =006 =100 -+ 0K
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7)(1706.3] 126.6 / 126.6 71 (1706.3] 126.6 / 126.6
8)[1820,0] 10230.6 , 7839.5 &5 [GEIGER  hHEN 8) [1820.07 10230.6 / 7839.5 EF) (G GEMm  fhamN
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24805411 (M) 3053202 3 (M) =
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E= =01 =0 ‘mm"2
1064000 (A} 0.10N‘mm"2  fs 66N./mr
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WEL =012 096=013 £ 1.00 - - 0K
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1170982 5{M}
248260.00( 2
REL =472 - 6.65=071 = 1.00 - - + OK

o= =4, T2N/om’2  fb = & GEN'an 2

[t=42d+] 1=1737.9 . E=960.0 kN.cm™2
HBEhHE = 0.61 cn(R/A2@ 1/ 3000 A2 100 emBlF
J\Ki=tHHE = 02640 cm
0.2640 .~ 0.61 =044 £ 100 - - - OK

(] Fb=21.6N/am"2 . Kd=1.60 . Kz=0 84 . Ks=1.00
1416108 3({M) X 5
g = 228260 00(2) = 5. 70N/am’2  fb = 9 GEN'am 2

#®ELk =570 .- 966 =05 = 1.00 - - 0K

[t-d#t] 1=1737 9 . E=960 0 kN/cm™2
HBh#HE = 0.81 om( R/ 1/ 2250 HD 2 00 cmlF
@XbHHE = 03175 cm
03175 081 =039 =100 ---0K




HAES 16787 5<H< Ver 2.0.0.3 build 20250116 %178 : 20254 028 118
BEMDEE
A RERER #HETSH 8-11

FLEQ- DO A FCEQF- DO o
S-P-F HE2#k 2-206 S-P-F @28 2-206

@Y ¥I~Y3 AL Y1 ~TD

™

2308.3 ¢ 23083

#ER | haRN - ) EEE LhARN
170 00! 4/0.0 / 470.0 DR i22.4
T00113.8] 148,86 148,86 D38 1486 / 148.6
3)7455.0] 843.4 / 843.4 3)[455,0] 1150,2 / 1150, 2
4)[910,07 1692.5 / 1692.5 4)[910.0] 2418.9  2418.9
5)01365.0] 843.4 / 843.4 5)[1365.0] 1150.2 / 1150, 2
61[1706.3] 148.6 ' 148.6 6)[1706.3] 148 & / 148.6
1111820,0] 4700 / 470.0 7)[1820.0] 7224  722.4
B (08 %ER / hAEN B (08 %EE / -hAEN
[BABR] Fs=1. 8N/mm"2 , Kd=1.10 . Kz=1 0 (2 AME] Fs=] 88/mm 2 _ Kd=1 60 . Kz=1 0
1.5 x 1838.3(Q) i 5 1.5 x 2508 3iQ) 5 5
E = =0 s =0 ‘mm"2 = =03 g = . U6N/mn"2
10640, 00 (A 0.26N‘mm"2  fz = 0 66N/mm T 10640 00 (A} 0. 35N/mm"2  fs = 0 U6N/mm
WEL =026 -066=039 =100 - 0K WEL =035 - 096=037 100 0K
(@] Fb=21.6N/mm"2 , Kd=1.10 ., Kz=0 84 | Ks=1.00 (881 Fb=21. 6N/mm 2 , Kd=1.60 . Kz=0 84 . Ks=1.00
1170740 2{m! ) . 1640843 5{M] " )
- = = § g = = 6. =
248260, 00(2) 4. 7N/'mm" 2 fb BEN/mp "2 248260 002 6.6IN‘mm'2  fb = 9 BEN'mm"2
WEL =472 66 =071 = L0 - - - OK WEL =660 . 96E=08 <100 - 0K
[f=td+] 1=1737.9 . E=980.0 kN/om 2 [#=t>] 1=1737.9 | E=960 0 kN/cm'2
HBE-b&HE = 0.6] eniRAL@® 1/ 3000 D 100 emklF BE-bHE = 0.8 cmlRALOD 1/ 225 D L0 embl T
BmKRi-t&HE = 02376 cm BKR=tHHE = 03312 cm
0.2376 .~ 06l =039 =100 - - 0K 0.3312 - 0.81 =041 2100 - - -0K
F CEQF- DO — F CEQF- DO a0
S-P-F HfE2%k 2-206 S-P-F ERfE2#k 2-206
Yoi Y H2~Kd Yo Y 52~%0

g BE99.8 / 6699.8

! A/32150,0 v | R rdoz1820, 0 om

HER ) hAaRM HER ) haRN

1000 8170 517.0
2)1113.8] 148.6 / 148.6

11[ 0.0] 887 / 869. 7
2
455,01 2972.4  2972.4 3
I

[
[113.8] 148.6 / 148.6
[

3 485,01 4098.0 / 4098.0
4)1910,07 10170  1017.0 [910.0] 1378.2 / 1378.2
5)[1365.07 1017.0 / 1017.0 5)[1365.0] 1378.2 . 1378.2
61(1706.3] 148.6 ' 148.6 6/ [1706.3] 148.6 / 148.6
7101820.07 2504.8 = 2504.8 7)[1820.07 3803.9 « 3803.9
&5 [B@GER  hAaRN &5 (@ @EFM  chamn
[ ABF] Fs=1 8N/am"2 | Kd=1.10 , Kz=10 [BABR] Fs=1.8N'mm 2 , Kd=1.60 . Kz=1 0
15 x 3140.71Q) 1.5 x 4255.8(Q)
A - = = & = 0 B0M/mn” =08
10640, 00 (A} 0.44N'mm2  fs = 0 66N/mn 2 T 10640.00( A 0.80N/mn"2  fs = 0 06N/'mn 2
WEL =044 - 066=067 <100 - 0K WEL =060 - 0.9 =06 = 1.00 - - 0K
[BRF] Fh=21.6N/am"2 . Kd=1.10 ., Kz=0.84 . Ks=1.00 [#84] Fo=21. 6N/mm"2 | Kd=1.60 . Kz=0.84 | Ks=1.00
1367241 5{M} 1889830. 6{M) i o
= h = ' = o o= =1 b= g
o 248260, 00 (2 5.59N/mm 2  fb = 6 65N ‘mp % 248280 00(2) 7.6IN‘mm"2 & BEN mp"2
#®EL =559 - 6.656=0.8 < 100 - - -OK #®EL =761 - 9668=079 £ 100 - - -OK
[1=42d+] 1=1737.9 | E=960.0 kN/cm'2 [t<d#] 121737 9 . E=960 O kN/cm™2
HBEIhME = 061 on(RADD 1/ 3000 A2 100 cmbl T HBEbhME = 081 on(RAVD 1/ 2250 A2 200 cmbl T
J\X=h#HHE = 03201 cm J\X-h#HE = 0 4363 cm

0.3201 .~ 0.61 =053 =100 - - -0OK 04361 .~ 0,81 =054 =100 - - - OK




HAES 16787 5<H< Ver 2.0.0.3 build 20250116 %178 : 20254 028 118
BEMDEE
Br4ARERER #HETSH 8-12

FLEC- PO A F CEQF- DO o
S-P-F HE2#k 2-206 S-P-F EFE2# 2-206

S YO~12

i@y Yo~yz

PN N AN AN
4496 / 409§ 449 6 ; 449 6 Q4G F 448 6 LB
| | | |

| | |

EER haRMN

BER | haEMN

D38l 2.4 /7 nzd 1038l 1i2.a /1124
20145501 224.8 / M 8 2] (455,00 224.8 / 224.8
3:[910.0] 224.8 / 2248 3/[910.0] 2248 « 2248
4)01365.0] 224.8 / 1248 41[1385.0] 224.8 / 7148
5){1706.3] 192.4 / 1124 51 [1708.3] m2.4 7 ng.d
£S5 [DHHBE  LhaEN B2 (08288 haREN
[BAHF] Fs=1 8N/mm"2 . Kd=1.10 . Kz=1 0 [ AHf] Fs=1 8N/mm 2 . Ka=1 60 . Kz=1 0
1.5 x 449.6(Q! : _ 1.5 x 449.6(Q! i ;
t = =0. 3=0 ‘om"? 3 _— s = 0 UBN/mE"?
1064000 (A 0.06N‘mm"2  fz = 0 66N/mm T 10640 00 (A 0.06N‘mm"2  fz = 0 G6N/'mm
REL =006 - 066=010< 100 -+ 0K REL =006~ 096=007 £ 100 - 0K
[ghif] Fb=21.6N/mm 2 . Kd=1 10 ., Kz=0 84 | Ks=1.00 (] Fb=21.6N/mm 2 , Kd=1.60 . Kz=0 84 . Ks=1.00
217346.5(M 217346 5(M i ..
. i " .. - .
248260.00 (2] 0.88N‘'mm"2  fb B5N/np "2 248260 00(Z) 0.88N‘mm'2  fb = 9 BEN'mr"2
REL =088 - 665=0.13 = 1.00 - - - OK 1RELL =088 7 96E=009 <100 - 0K
[#=tr+] 1=1737.9 , E=980.0 kN/cm 2 [t=tod] 1=1737.9 . E=960 0 kN/cm 2
BEbhHE = 061 emiRAL@ 1/ 3000 oD 100 emElF HEb#E = 0.8 on(ZALO 1/ 2250 mvD 200 emblF
BKi=tHHE = 00474 cn BX=hHHE = 00474 cm
0.0474 - 06! =006 <100 - - - 0K 0.0474 081 =006 <100 - - 0K

F CELF- HO £ Re F CAOF- 1HO pr—
S-P-F B2 2-206 S-P-F B2 2-206

EEELY YI~vd

NEHEL YI~Yd

RS20 0 o | A 8218200 o
HER ) hAaRM

£00]30.2,302 D0oel 32,302

m3.elnzd i 2)[(113,81 112.4 / 112.4

1455.0] 285.2 ' 285.1 3)[455.0] 2852 ; 285.2

1910.0] 285.2 ' 285.1 4)[910.0] 2852 ; 285.2

{1365.0] 285.2 / 285.2 5)[1385.0] 285.2 / 285.2

101708.3] 12,4/ 112.4 6)[1706.3] 112.4 / 112.4

7101820.0] 217.3 © 217.3 7)[1820.07 217.3 © 173

HER ) haRN

4> @ e e o

5 [BRAIEER  hamN #5) [BAIHEM  hbamN
(B ABR] Fs=1 8N,mm 2 . Kd=1.10 , Kz=1 0 (B ABR] Fs=1 8N/mm2 . Kd=1 60 . Kz=1 0
1.5 x 540 2{Q) 15 x 540 2(Q)
2{Q) _ i . iy - 2(Q) | i i iy
10640, 00 (A} 0 08N‘mm2 fs =0 66N/mr 2 T 10640.00( A 0 084/mm2 fs =0 96N/ ar 2
REL =008 - 066=012= 1.0 - 0K IREL =0.08 - 096 =008 = 1.00 - 0K
[gRIF] Fb=21.6N/am"2 . Kd=1 10 . Kz=0.84 . Ks=1.00 (] Fb=21.6N/mm"2 . Kd=1.60 . Kz=0 84 . Ks=1.00
272332 3(M ) ) o 272332.3(M : i ) =
g = 248260.00(2) C10N/mm™2  fb = 6 65N ‘me"2 g = 248260 00(2] C10N/mm™2  fb = 9 BEN./me"2
REL =110 - 665=0.16 < 1.00 - - - OK REL =110 - 9EE =011 2100 + + 0K
[#=42d+] 151737 9 . E=960.0 kN/om™2 [1=haé+] 1=1737 9, E=960 0 kN/cm™2
HE-bhHE = 061 om(R/AAVD 1/ 3000 A 100 enBl T HBh&HE = 081 omRANLD 1/ 225 A 200 emlF
J\K-tHHE = 00592 cm J\KRi=t#HE = 00592 cm
0.0592 .~ 061 =010 <100 -+ -0K 00592 .~ 0.81 =0.07 < 1.00 -+ - 0K




HAHES 16787 5<4< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 118

HMEMDEHE

PHHAANERER #ETIE 813
F CEQ2F- 5O B Re) F CE2F- 5O o8
S-P-F HiE2%k 2-206 S-P-F ERFE2#k 2-206
YhiE L) HE~NEB Y@Ll EE~X
3 1 4 § E | 2 + 4 § B
| | | | | | | | | | | | |
27040 / 27040 a3 T /47T - )
EER haRMN EER haRMN
1700.0! 987.6 / 987.6 15587 / 1888.7
T00113.8] 148,86 148,86 21[013.8] 140.5 / 148.B
3[455.07 1284.9  1284.9 3)[455.0] 1856.0 / 1856.0
4)[910,07 1218.1 / 1218.1 41[910.0] 1742.6 / 17426
5)01365.0] 1142,0 / 1142.0 5 [1385.0] 1612.0 © 1612.0
61[1706.3] 148.6 ' 148.6 6] [1706.3) 148.6 / 148.6
711820.0] 168.6 ' 768.6 1101820.0] 1184.2 / 1184.2
5 (AEIEER / haEN B (08 %EE / -hAEN
[BABR] Fs=1. 8N/mm 2 . Kd=1.10 . Kz=1 0 (e AME] Fs=1 84/mn"2 , Kd=1. 60 . Kz=1 0
15 x 2006.8(Q) i 5 1.5 x 2814.9(Q) 5 5
t= =0 =0 ‘mm" 2 = = 0. = 0 O6N/mr" D
1064000 (A ) 0.28N‘mm"2  fs = 0 66N/mm 10640 00(A) 0.40N‘mm"2  fs = 0 96N/mm
WEL =028 - 066=043 <100 - - +-0K WEL =040 096 =041 100 - - 0K
[8(F] Fb=21.6N/mm 2 , Kd=1.10 . Kz=0.84 . Ks=1.00 (#8147 Fb=21. 6N/mm"2 . Kd=1.60 . Kz=0 84 . Ks=1.00
1123273 1{m! ) X . 1598765 5{M) " X )
248260.00(2) =4.52N'mm2  fb =6 65N/mm"Z 248260 00( 2] 6. 44N‘mm'2  fb = 9 BEN'mm"2
WEL =452 - 6656=08 = 100 - - - OK WEL =644 - 96E =067 £ 1.00 - - - OK
[f=to] 1=1737.9 . E=960.0 kN/cm 2 [#=t>+] 1=1737.9 , E=960 0 kN/cm'2
HE-bHE = 0.61 oniRALOD 1/ 3000 HD 100 enbl T HEbHE = 0.8 cmlRALGD 1/ 225) D LO00 embl T
BKi=to#HE = 02420 cm BKRi=tHHE = 03440 cm
0.2420 - 061 =040 = 100 - - - OK 03440 - 0.81 =043 =100 - - -OK
F CEQF- 6O - F CEQF- 6O -
S-P-F HiE2%k 2-206 S-P-F ERfE2#k 2-206
Ty R E~Ki0 S 8 8~¥11.5
z a 4 g B T 1 2 3 4 g & T
L | | | | |y | | | |
2929.9 / 29399 2w TS N 423337 » 42337
A 421820, 0 | A AL=180 0
" " BEM EbBRN cemmam BEM EhBRN
10 0.0] 692.5 / 692.5 15[ 0.0] 10837 / 1083. 7
2)1113.81 148.6 /1488 2:[013.81 148.6 / 1488
3145501 989.7 © 989.7 31[455.0] 1350.9 / 1350.9
4)1910.0] 989.7  989.7 41[910.0] 1350.9 / 1350.9
§111365.0] 989.7  989.7 5)[1365.0] 1350.9 . 1350.9
6171706.3] 148.6 « 1486 6/ [1706.3] 148.6 / 148.6
T101820.0] 1296.7  1296.7 7)[1820.0] 2058.7 / 20687
&5 [E@ GEM  haRN &5 [BEEEM  ham N
(2 ABF] Fs=1 8Nmm 2 . Kd=1.10 . Kz=1 0 [BABR] Fs=t 8Nimm 2 . Kd=1.60 . Kz=1 0
1.5 x 1633.2(Q) 1.5 x 2175.00Q}
. 20Q) il . iy o a 3 i e
T 10640, 00(A) 0.23N/mm2  fs = 0 66N/'mn 2 T 10640.00( A 0.31N/mm 2 fs = 0 B6N/‘mr 2
WEHL =023 - 066=0235 = 1.0 ---0K WELk =031 096 =032 = 1.0 - 0K
[BBF] Fh=21.6N/mr"2 . Kd=1.10  Kz=0.84 . Ks=1.00 (#8447 Fo=21. 6N/mm"2 | Kd=1.60 . Kz=0.84  Ks=1.00
917551, 0(M bosodeei
. . ) s . & - 5 0oN/ . .
o 248260, 00 (2 3. 70N/‘mm"2 fb = & 5N mn 2 248260 00(2) 5.02N/mm2  fb = 9 GEN/mm"2
#®EL =370 - 6.656=056 £ 1.00 - -+ OK HWEL =502 .- 966 =052= 100 ---0K
[#=422+] 1=1737.9 | E=960.0 kN/cm'2 [t=d#s] 1=1737 9 . E=960 0 kN/cm™2
HB-bhHE = 061 oniR/AVGD 1/ 3000 A2 100 ek F BEbh&HE = 0.8 om(RAVD 1) 225 A2 200 emlF
B\KRI=t#HHE = 01976 cm J\A-bh#H R = 02680 cm
0.1976 .~ 0.61 =0.33 £ 100 - - - OK 02680 .~ 0.B1 =0.33 <100 - - 0K




HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47R : 2025% 028 118

HMEMDEHE

PAEKERER HEIS

8-14

F CEQ2F- DO £m s
S-P-F HRFE2%% 2-206

F - DO
S-P-F HIE2%R

LERES

2-206

L1258 Y1~Y3

: 4 5 B

EER haRMN

K12 584 ¥1~11

3943 39947

EER haRMN

1000 471,98 /408
1113.8] 1488 / 148.8
1145507 944.0  944.0
[910.07 2379 6  2379.6
11365.0] 944.0 / 944.0
171706.3] 148.6  148.6
1018200 a71.% © 471.%

)

@ ¢ e w

£S5 [DHHER | hAEN

N[00l 7243 7243
2)[113,81 1486 / 148.8
3)[455.0] 1322.6 / 1322.6
4)[910.0] 3597.6  3597.8
) [1365.0] 1322.6 / 1322.6
6)[1706.3] 148.6 ' 148.6
7)[1820.0] 724.3 / T24.3

£S5 [DHHER | hAEN

[BAHF] Fs=1. 8N/mm"2 . Kd=1.10 . Kz=1 0
15 x 2282.5(Q) : o
T 10640, 00 A} 0.32N/mm"2  fs = 0 66N/'mn"2

WEL =032 - 066=0.49 £ 100 - - -0OK

[@(F] Fb=21 6N/nm'2 . Kd=1 10 . Kz<0 84 . Ks=100
1529170 1(M)

248260.00(2)

B =616 7 665=003 = 1.00 - - - OK

= 6.16N‘mm'2  fb = 6 65N/mm"Z

(B ABR] Fs=1 8N/mn2 . Kd=1.60 . Kz=1 0
1.5 x 3270.0iQ! : TR
T 10640 00 (A} 0.46N‘mm"2  fs = 0 96N/'mn"2

REL =046 - 096=0.48 £ 100 - - -OK

[#5] Fo=E1 6N/mm"2 = Kd=1.60 . Kz=0 84 ., Ks=1.00
2255615 5({M) " X ”
248260 00(2) 9.09N/'mm'2  fb = 9 BEN'mr"Z

RELk =909 .~ 96E=094 =100 - - 0K

[f=td+] 1=1737.9 . E=960.0 kN./cm 2
HEf-bHE = 0.61 oniRALO 1/ 3000 B 100 embl T
BXTtHE = 03045 cm
0.3045 - 06! =050 <100 - - 0K

[#=t>+] 1=1737.9 , E=960 0 kN/cm'2
HEfbHE = 0.8 cmlRALOD 1/ 225) D L0 embl T
BmKi=t#HE = 04460 cm
04460 .~ 0.B1 = 0.55 < 1.00 - - - OK

F CEEF- 8OO smms)

F C - OO

Mg RS

S-P-F ERIE2#K 2-206

S-P-F HiE2#K

2-206

I Ye~vT

10611 1061, 1 908.8 / 9088

| A422910.0 om
WER  haRN

AL YE~YD

1346 7 13148

Apem910.0 mm

WER  haRN

11 0.0] 527.3 / 521.3
20(113.81 148.6 / 148.6
3)1485.01 770.3 / 170.3
4)07196.31 148.6 / 148.8
5/7910.07 375.0 / 375.0

&5 (Gl ER  chamN

11[0.0] 888.6 / 888.%
2:[013.81 148.6 / 1488
3)[455.01 10771 ;/ 10771
4
5

[796.3] 148.6 / 148.6
[910.0] 627.4 / 627.4

&5 [GAIEEM  fbamN

[t ABR] Fs=1 BNan 2 . Kd=1.10 . Kz=1 0
1.5 x 533 8{Q)

10640. 00 (A

BEL =008 ~ 066 =011 = 1.00 + - 0K

T = ~ =0 084'mm2 fs =0 66Nmr 2

[ ABR] Fs=1 BN/mn 2 . Kd=1 60 . Kz=1 0
15 x 687.2(Q)

10640. 00 A}
HEL =010 - 09 =010 = 100 - - - 0K

T o= =0 10N'mm2 fs =0 96N/mmn"2

[Blif] Fb=21 BN'mm 2 . Kd=1.10 . Kz=0 84 ., Ks=1.00
192159. 7(M

- ) A <

9 C k0 00(z) O MNmE o fbs 6 ESNae2

RELk =077 - 6.65=0.12 £ 1.00 - - + OK

[t=42d+] 1=1737.9 . E=960.0 kN.cm™2
HBEhHE = 030 en(R/A2@ 1/ 3000 HAD 100 emBlTF
J\K=tHE = 00090 cm
0.0090 .~ 0.30 = 0.03 £ 1.00 - - - OK

[#8] Fo=21. 6N/mm"2 | Kd=1.60 . Kz=0.84 . Ks=1.00
261952. 7 (M C = -
O 8260 iz L06N/mm'2  fb = & GEN'mp"2

REL =106 - 96 =011 £ 1.00 -+ -0OK

[F=42d+] 1=1737.9 , E=9R0 O kN'cm™2
WBhHE =040 cn(RAD@ 1/ 2250 HD 200 emBlTF
B\K=tHHE = 00121 cm
00121 -040=003=<100 ---0K




HAES 16787 5<H< Ver 2.0.0.3 build 20250116 %178 : 20254 028 118
BEMDEE
A RERER #HETSH 8-15

FCEE100 o) F CEQF-1000 o
S-P-F HE28k 2-206 S-P-F @28 2-206

AR L Yd~YE AEE Y va~7h

| |
| A A wsH0 0 mm | ZAws30 0 mm |

EER haRMN EER haRMN
1381 124/ NZA 150113.81 112.8 7 112
7 [a55. 0] 2248 [ 2048 21[455.01 2248
3 {196 2] N2:4 /24 3)[796.3] 112:4 / 112
5 (AEIEER / haEN 5 (AEIEER / hAEN
[ AMBRF] Fa=) 8N/mm 2 . Kd=1.10 . Kz=1 0 (e A8E] Fa=] 8N/mn'2 | Kd=) 60 . Kz=1 0
1% x 224 8{Q! : 2 1.5 x 224 BiQ} i 3
k= = g=10 ‘om" 2 = = = 0 SeNmR"?
10640 00 1A 0.03N‘mm2 fs 66N.mr T 10640 00(A) 0.03N/mm"2 fs U6Nmr

WEL =003 - 066=005= 100 - 0K WEL =003 - 096=003 £ 1.00 -- 0K

[BEiF] Fb=21.6N/mmn"2 . Kd=1.10 ., Kz=0 84 . Ks=1.00 (881 Fb=21. 6N/mm"2 . Kd=1.60 . Kr=0 84 . Ks=1.00
63925.4 (M) " = 63925. 4(M) : § =

g = 248260.00(2) =0.26N'mm2 fb = & GEN/mr"2 T 48260 00(2) =0.280/'mm"2  fb = 9 BEN/'mr"2

WEL =026 .- 6656=004 <100 - - +0OK WEL =026 - 96E=003 100 - 0K
[#=4o2+] 1=1737.9 . E=960.0 kN/cm 2 [f=h#] 1=1737.9 . E=960 0 kN/cm'2

HEbhAE = 0.30 on(RA@ 1/ 3000 HD 100 emblF HEbhHE = 0.40 on( RO 1) 2250 mvD 200 emblF

BXi-bH#HHE = 00032 cm BKXi=tHHE = 00032 cm

0.0032 .~ 0.30 =0.0! = 1.00 - - -0OK 00032 -~ 040=00" =100 - - 0K

F LD smomn F CEQF-1DO -
S-P-F HiE2%k 2-206 S-P-F ERFE2#K 2-206
YE@E L H1~¥B Yol 57~x

| 2 3 | 2 3
| | |
1248 ;1248 18 e z 248
| |
| | |
ASLE910.0 m A822910.0 m
o BEE bABK s HER | fhAMN
190013.81 112.4 7 1124
21 [485.0] 224.8
31[796.31 102.8 /102
&5 [GFEER  chamN &5 [GAIEEM  fbamN
[ ABF] Fs=1 8N;mm 2 . Kd=1.10 , Kz=1 0 [BABR] Fs=t 8Nimm 2 . Kd=1.60 . Kz=1 0
1.5 = 224 8({Q) 15 x 224 8(Q)
= St i = a2 = e ‘mn” = (o "2
T 10640, 00 (A 0.03N‘mm 2 fs = 0 66N/mn 2 T 10640.00{ A 0 03'mm2 fs =0 96N/ an 2
REL =003 - 066=005=10 - 0K REL =003 .- 096 =003 = 1.0 - 0K
[gRIF] Fb=21.6N/am"2 . Kd=110  Kz=0.84 . Ks=1.00 (] Fb=21.6N/am"2 . Kd=1.60 . Kz=0.84 . Ks=1.00
63925.4 (M N o 63925. 4(M} L= o~
g = 248260.00(2) = 0.26N'mm"2  fb = & E5N/mr 2 g = 248260 00(2) = 0.26N'mm"2  fb = & BEN/mr 2
IREL =026 - 665=004 £ 1.00 - - +0OK REL =026 - 96 =003 <100 -+ -0OK
[t=tad+] 151737 9 . E=960.0 kN/om™2 [1=t2é+] 1=1737.9 , E=960 0 kN /cm™2
FBEbhHE = 030 emR/AL@ 1/ 3000 A2 100 emBlF ¥BhHE = 0.40 cni RO 1/ 225 HD 200 emBlF
J\K=tHHE = 00032 cm J\KRi=t#HE = 00032 cm

0.0032 .- 030=001 =100 - - 0K 00032 .- 0,40 =001 =100 - - 0K




HAES 16787 5<H< Ver 2.0.0.3 build 20250116 %178 : 20254 028 118
BEMDEE
Br4ARERER #HETSH 8-16

FCEE100 o) F CEQF-16>0 o
S-P-F HE2#k 2-206 S-P-F EFE2# 2-206

Yol H3~3d
2 ) a -4 | 2 13 4
| | | | |
TAg. 1/ Tee 1

A =H0.0 mm | AN =H0.0 mm |

EER haRMN EER haRMN
10 0.0] 3742 /3742 1 a2
200103.8] 1124 /12,4 2 3 2.4
3145507 599.0 / 599, 0 3)[455.0] 599.0 © 599.0
4)0796.3] 112.4 / 112, 4 41[796.3] 112.4 /112, 4
5)1910.0] 2162.E / 2162, & 5/[910.0] 3092.0 ' 3092.0
&5 (MEEER  haREN 5 (MEIEER / hAEN
[BAHF] Fs=1 8N/mm'2 . Kd=1.10 ., Kz=1 0 (A8 Fs=1 8N'mmn"2 | Kd=1 60 . Kz=1 0
1.5 x 411.9{Q) F 5 1.5 x 411.9iQ) F A
Be =0 = 0. 66N/ma"2 = =0 = 0. 96N/mR"?
1064000 (A ) 0.06N‘mm"2  fs = 0 66N/mm T 10640 00 (A 0.06N‘mm"2  fs = 0 96N/mm
WEL =006 - 066=009 <100 -+ 0K WEL =006 09 =006 <100 -+ 0K
[8(F] Fb=21.6N/mm 2 . Kd=1.10 . Kz=0.84 . Ks=1.00 (#8147 Fb=21. 6N/mm"2 , Kd=1.60 . Kz=0 84 . Ks=1.00
149054. 1(™M ) X . 148054 1({m . : -
208260.00(2) 0.60N/mm 2 fb = 6 65N/mm"2 g = 2482600002 0.60N/mm 2 fb = 9 BEN'mm"2
WEL =060 .- 6656=009 = 100 - - - OK #®EL =060 . 966 =006 <100 -+ +0OK
[#=4o2+] 1=1737.9 | E=960.0 kN/cm 2 [#=t>+] 1=1737.9 , E=960 0 kN/cm'2
HE-bHE = 0.30 oniRALO 1/ 3000 B 100 embl T HEfbHE = 0.40 omiRANLOD 1) 225) D L00 emBl T
BXT<t#E = 00070 cm B\KXi=tH#HE = 0.0070 cm
0.0070 .~ 0.30 = 0.02 < 1.00 - - - OK 00070 . 0.40=002 <100 -+ -0OK

FLCE2FDO smme F CAQF-1DO J—
S-P-F HiE2Hk 2-206 S-P-F HFE2%k 2-206

Yo L BE~ 108 Yditl EB~K00 S

angd 7 /41047

WEM | hARN ' WEM | haMN

1)1 0.0] 2501.5 / 2501.5 1) 0.0] 3680.4 ; 36804
2)0113.87 112.4 7 112.4 [113.81 112.4 7 112.4
3)1455,01 3002.3 30023 3)[455.01 4329.9 ./ 4329.9
4)1910,0] 599.0 / 599.0 4)[910.0! 599.0 , 599.0
5)71365.0] 599.0 / 599.0 5)[1365.07 599.0  599.0
61(1820.07 599.0 / 599.0 6)[1820.0] 599.0 / 599.0
Ti[2160.3] 102.4 102, 4 N(2161.3] n2.4 / 2.4
8)[2275.0] 2313.7 ; 2313.7 &5 [G@IGEA  hHEN 8) (2275 0] 3638 2 / 3638.2 B [GFIGEM  fhamN
[ ABF] Fs=1 8Nmm 2 . Kd=1.10 . Kz=1 0 (B ABR] Fs=1 8N/'mm2 . Kd=1 60 . Kz=1 0

- ’;64323310 0.46N/am 2 fs = 0 66N/an 2 =! 5;6432221\0 =0 6N/ 2 fs = 0 06N/an"2

ML = 046 .- 066 =069 < 100 - - - 0K HAEL = 0.61 - 09 =06 = 100 - -0K
[#A(F] Fo=21 GN/mn 2 _ Kd=1 10 . Kz=0.84 . Ks=1.00 [gH1F] Fo=21 6N/nn 2 . Kd=1.60 . Kz=0 84 . Ks=1.00

o= ;:Zgzgdog“z" = 5.90N/mm'2 b = & BSN/n"2 g = 23;2?5303“2" = 7.7Nmn' 2 fbo= G BEN/AR2

HAEL =599 .- 665=000 <100 -+ 0K WEL =772 . 966 =08 < 1.00 - - - OK
[#dad+] 1217379 . E=960.0 KN/om 2 (=4 1=1737 9 . E=960 0 kN'cm'2

BBET-hHE = 0.76 on(RAD 1/ 3000 A2 1 00 emll T HBEhHE =101 om( RO 1/ 2250 HD P00 embl T

BX7-b# B = 0.525 cn BA1=b#HE = 06057 on

0.5225 .~ 0.76 = 0.69 < 1.00 - - - QK 0.6057 .~ 1.01 =060 = 100 - - -OK




HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47R : 2025% 028 118

HMEMDEHE

PAEKERER HEIS

F C L1800

S-P-F ERIE28K

ERIRS

2-206

F CEQF-18>0 _ oS
S-P-F ERfE2%R 2-206

Yy 5 ES~x0 8

YoEY K5 E~K 18

BOTE.9 / BOTH. G THE. N [/ TBE.N

A =H0.0 mm

EER haRMN

Z8=B10.0 2
EER haRMN

51[910.07 374.2 / 374.2

£S5 [DHHER | hAEN

1L 00! 4759.9 / 4758.¢ 110 0.0] 76671 / 7667.1
e nzd fnz4 21[013.81 1024/ 112.4
3)1485.07 599.0 / 5990 3/ [485.0] 599.0 © 599.0
4)0796.3] 12,4 /1124 41[796.3] 112.4 1124

5/[910.0] 3742 © 3742

£S5 [DHHER | hAEN

[BBF] Fb=21.6N/mn 2

®EL =006 ~066=009 = 1.00 - - -

. Kd=1.10 . Kz=0 84 . Ks=1.00

149054 1(m

T ABF] Fs=1 8N/mn2 . Kd=1.10 . Kz=1 0
1.5 x di1.9(aQ} ; :
= =0 s = 0 66N /a2
1064000, = 008NN fs =0 66N/

aK

= 0.60N‘mm'2 fb = & EEN/nn"2

248260.00(2
®EL =060 - 665=009 =100 - - -

oK

=

[ AHf] Fs=1 8N‘am 2 . Kd=1.60 . Kz=1 0

REL =006 096 =006 = 100 ---0K

[#5] Fo=21 6N/mm"2 , Kd=1.60 . Kz=0 84 | Ks=1.00

®EL =060 - 96E=006 =100 ---0K

1.5 x 411.9iQ)
10640 00(A}

= 0.06N'mm'2 fs = O 96N/'mm"2

148054 1({m

248260.00(2) 0.60N‘mm'2 fb = 9 BEN'mr 2

[t=h#] 1=1737.9 | E

0.0070 .~ 0.

=960. 0 kN/cm 2

30=002 =100 ---0K

H¥Bt-bhHE = 0.30 oniZAL@ 1300 5D 100 enblF
BXT<t#E = 00070 cm

0.007

[#=t>+] 1=1737.9 , E=960 0 kN/cm'2
HBEbHE = 0.40 om(RiN D 17 2250 D 200 emBl T
BXT-tHE = 0.0070 cm

0.040=002=100 - 0K

F 19O

ERIBA

F CEL2F19O S

S-P-F ERIE2#K

2-206

S-P-F HiE2#K 2-206

LInS@EY Ye~Y!

5088 ; 9088 643/ 3843 13048 13148

X105 YE~Y?

Apem910.0 mm

AeiE910.0 mm
HWEMR  =hAaRK WER  haRN
10 0.0] 1522.4 /15224 1 WM
2){113.8] 148.6 / 148.6 EH L 148 &
3)1455.01 770.3 / 770.3 37 [455.01 10771 / 1077 )
4)1796.3] 148.6 / 148.6 41[796.31 148.6 / 4B E
5)[910.07 375.0 / 375.0 5 [%0.0] 627.4 / 62T 4
&5 [B@ GFm  haRN &5 (@ @FM  fchamn
[#ABF] Fs=1 8,mm 2 . Kd=1.10 , Kz=1 0 [BABR] Fs=1 8N/mm2 . Kd=1.60 . Kz=1 0
T = :,;642330?-;\__' =0.08N‘mm2  fs = 0 66N/mm 2 T s 5;6428;02:‘ =0 10N‘mm 2 fs = 0 B6N/mm 2
WEL =008 .~ 0866 =011 = 1.00 - - 2K WEL =010 .09 =010 = 1.0 - 02K

(B F] Fh=21.6N/nn 2
1921
o=

BEL = 0.

[t=h#] 151737.9 |

Kd=1.10 | Kz=D.84 . Ks=1.0
M

59.
=0.7N/am’2  fb =

248260.00( 2

77 - 6.65=0.12 = 1.00 - -

E=960.0 kN/cm™2

0
& 65N, 2

+OK

HBr-bhHE = 030 om(R/AVD 1/ 3000 A 100 emlF
@A HE = 00090 cm
0.0090 .~ 0.30 = 0.03 £ 1.00 - - - OK

g =

BE

S
(PN
001

(#8447 Fo=21. 6N/mm"2 | Kd=1.60 . Kz=0.84 . Ks=1.00

[7ha] =17

261952. 7 (m
248260 00{Z)
bt =106 - 96E =011 =100 - 0K

= 1.06N/mm'2  fb = & GEN'mr"2

17.9 ., E=960 0 kN om™2

tohH@ = 040 emi R/ 2@ 1/ 2250 HD 200 emBl T
t=h#E = 00121 om

#1040 =00 =100 - -0K




HhHES 16787 5<4< Ver 2.0.0.3 build 20250116 %47R : 2025% 028 118

HMEMDEHE

BHARERER #ETEH 8-18

F CEQ2000 o) F ¢ EQF-2000 o
S-P-F HE2#k 2-206 S-P-F EFE2# 2-206

YEY B S~ 6 Yo Ll

E~%15

4 5787 / 85707 23307 ;BT
| Z 822100 am _ | | Z 8222100 am _ |
EER haRMN EER haRMN
10 0.0! 987.6  987.6 [ 0.0] 1558.7 / 1558.7

m
T00113.8] 148,86 [ 148 8 nn 1 148.6 / 148.6
3)[455.0] 1218.1 / 12181 ) ] 1742.6 /17426
4)[796.3] 148.6 / 1486 4 ] 148.6 © 148.6
5)1910.0] 8447 / 8447 5 113148 13148
&5 (MEEER  haREN B (08 %EE / -hAEN
[BABR] Fs=1 8N/mm"2 | Kd=1.10 , Kz=1.0 (A8 Fs=1 8N'mm"2 , Kd=1 60 . Kz=1 0
15 x 757 7{Q! _ 2 1.5 x 1019.9(Q) 5 5
E= = 0. 1IN fs =0 ‘om" 2 = = 0.1 = 0 o6N/mR"?
1064000 (A ) D VNINmn' 2 fs = 0 66N/am T 10640 00 (A} 0.14N‘mm"2  fs = 0. 96N/mr
WEL =011 < 0.66=0.16 = L0 - - - 0K WEL =014 .-09%=015< 100 - - 0K
[8(F] Fb=21.6N/mm 2 . Kd=1.10 . Kz=0.84 . Ks=1.00 (#8147 Fb=21. 6N/mm 2 , Kd=1.60 . Kz=0 84 . Ks=1.00
294033. 3(M i X . 413348 0(M = ; . -
2482600021 C18N‘mm°2  fb = 6 65N/‘mm"Z g = 248260.00(2) (66N‘mm 2 fb = 9 BEN'mm"2
BEL =118 - 6656=018 = 1.00 - - - OK HREL = 166 . 966 =017 < 1.00 - - - OK
[#=to] 1=1737.9 . E=960.0 kN/cm 2 [#=t>+] 1=1737.9 , E=960 0 kN/cm'2
HBb#HE = 0.30 on(R/A2@® 17 3000 D 100 emBl T HBbHE = 0.40 om(RiN D 17 2250 B2 200 emBl T
JKi=to#HE = 00135 cm BKXi=-tH#HE = 00188 cm
0.0135 - 030=004 <100 - - -0OK 00188 . 0.40=005<100 0K

F 22100 smme) F CXQF21>O J—

S-P-F ERIE2#K 2-206 S-P-F HiE2#K 2-206

Yokl %4 S~XE YE L Kd E~HE

HEMR | hamm HEMR | hamm

100.0] 788.6  168.8 110 0.0] 11842 / 1184.2
2)1113.8] 148.6 /1486 2 [113.8] 148.6 / 148.6

311221.51 1399.9  1399.9 31[227.5] 1998.4 / 1998.4
4)1455.00 1142.0 © 1142.0 4][485.01 1612.0 / 1612.0
§11910.07 1218.1 /12181 5/[910.07 1742.6 / 1742.6
6

101251.3] 148.6 / 148.6 6)[1251.3] 148.6 / 148.6
101365.0] 987.6 / 987.8 7)[1365.0] 1558.7  1556.7
5 [BAIHEAR  haMN &5 [GAIEEM  fbamN
(2 ABF] Fs=1 8Nmm 2 . Kd=1.10 , Kz=1 0 [BABR] Fs=t 8N'mm 2 . Kd=1.60 . Kz=1 0
15 x 2482 6(Q) L e 1.5 x 3469.5(Q) 3L o=
T = '0640.00:\"A_‘ = 0.35N'mm2 fs = 0 66N/mr 2 T = '0640.00:'_.A_- = 0. 49/'om 2 fs = 0 96N/mm"2
®EL =035 .- 066=05 =100 ---0K REL =049 - 096 =05 = 1.00 - - 0K
[#(F] Fb=21.6N/mm 2 . Kd=1.10 . Kz=0.84 . Ks=1.00 [E{] Fb=21 6N/mm"2 . Kd=1.60 . Kz=0 84 . Ks=1.00
760382. 2(M 1073279 4{Mm]
. . i . s .. . : . ..
o 248260.00(2) 3.06N/mm"2 fb = & BEN/Am"2 [ 248260 00(Z) 4.32/om"2  fb = 9 GEN'mr"2
1REL =306 .- 665=046 = 1.00 - - + OK REL =432 - 966 =045 =100 - - 0K
[1=422+] 1=1737.9 | E=960.0 kN/cm'2 [1=42é+] 1=1737 9, E=960 0 kN /cm™2
FBbhHE = 0.46 on(RAGD 1/ 3000 A2 100 emblF HBr-hHE = 0.61 om RN 1/ 2250 5D 2 00 ek F
J\K=tHHE = 01010 cm J\X-h#HE = 01426 cm

0.1010 .~ 0.46 = 0.22 < 1.00 - - - QK 0.1426 .- 0,61 =024 = 100 - - -OK




HAHES 16787 5<4< Ver 2.0.0.3 build 20250116 %f7H : 2025% 028 118

EEMDEHE
BHAKERER #ETEH 8-19

BiR(E Y <2F- 15O s3m BRIZYL2F- DO

LA RES

S-P-F ERFE24R 2-210 S-P-F BB S 22210

YAy KE~K 6§ YAl Y HE~X15.S

| | |
| | | |

724

472 A

129 0 19

Zinioadhh 0 mm

|
| AiNo=d55 0 am
BER LhAaRN BER LhAaRN
100,01 41451 41451 110 0.0] 6914.5 / 6914.5
211227.5 54,6 ' 54.6 21[227.51 54,6 | 54.6
3)[455,07 4358.4 © 4358.4 3)[455 0] 7265.6 / 7265.6

£S5 [DHERE | hAEN

5 (AEIEER / hAEN
[BABF] Fs=1 8N/mm'2 . Kd=1.10 . Kz=1 0 [ AME] F3=1 8N/am 2 | Kd=1.60 . Kz=1 0
15 x 273{Q; Z 2 15 x 273(Q) i 3
E= =0 =0 ‘mm"2 E= = ! g = 0 D6N/mr"2
1786000 A 0.00N‘mm"2  fs = 0 66N/mm 17860 00( A} 0.00N/mm"2  fs = 0 96N/mm

REL =000 - 066=000 = 100 - - 0K REL =000 - 0.96=000= 100 « - -OK

[ghif] Fb=21.6N/mm"2 . Kd=110 . Kz=0 68 . Ks=1.00
6210 7M1
699510.00({ 2"

WEL =001 - 530=000= 100 - - 0K

(g ] Fb=21.8N/nn'2 . Kd=1.60 . Kz=0.68 . Ks=1.00
h i 5 L RI10.TM)

= 0.0IN/m2 b = 5 39N/nn"2 S9BT0:00150
Bk =001 - 782000 < 1.00 - - -0OK

=0.0IN'am2 fb =7 83N'mn"2

[#=4>2+] 128219 3 . E=960.0 kN/cm 2

HEbHE = 0.23 enlRALO 1/ 2000 5D 200 emBl T
BXTt#E = 00000 cm

0.0000 - 023=000=<100 ---0K

[#=4>+] 1=8219.3 . E=960 0 kN/cm'2

HEbHE = 0.30 omiRALO 1/ 1500 D 100 embl T
JmKi=t#HE = 0.0000 cm

0.0000 . 0.30 =000 <100 - - -0OK

BiR(E Y 2F- 25O smm BRIZYL2F- 22O

Mg RS

S-P-F ERIE28K 2-210 S-P-F HiE2#K 2-210

Y@y %08 S~x 118

YIiL KB 6~X112 6

478006 42606 19406 / 19416

r12023640,0 m | |

A ri0=3640.0 nm
HWEMR | hAaRN WER  haRN
1)1 0.0] 2268.2 / 2268.2 91[3185.0] 54.6 / 54.6 1)[ 0.0] 3659.3 / 3659.3 1546 546
2{113.81 27.3 1 2.3 10} [3626.3] 2.3/ 21.3 2138 213 2113 3] 27,3 7 21.3
3)1455,0] 443.5 /4435 3)[455.01 V22,4 ; 1214
4)1910.0] 511.4 /5114 4)[910.0] 838.0 ; 838.0
5)[1365.07 587.6 « 587.6 5)[1385.0] 968.5 / 968.5
6)71820.0] 663.7  663.7 6) [1820.07 1099.1 1099, 1
7)12275.0] 662.9 / 662.9 7)[2275.07 1097.5  1097.5
8)[2730,07 955 7 / 955.7 #5) [GA GEM  chamN 8) [£730.07 1581.5  1581.5 #5) [GAIHEM  hbamN
[ ABF] Fs=1 8Nmm 2 . Kd=1.10 . Kz=1 0 (B AMBF] Fs=1.8N/mn2 = Kd=1.60 . Kz=1 0
T = 5'7)(86092(2) “ZG- 0. 17N/mm2  fs = 0 66N/'mn 2 T = L 51;522210 =0.2/'am'2  fs = 0 G6N/mn 2

WEL =017 - 066=02 1.0 ---0K WEEk =027 096 =028 1.0 ---0K

[BBIF] Fh=21.6N/mr"2 | Kd=1 10  Kr=D 6B . Ks=1.00 [#if] Fu=21.6N/mn"2 . Kd=1.60  Kr=0 88 Ks=1. 00

2241375 8{M} i . = 3690945. 6{M - i =
699510.00(2) 3.20N/mm"2  fb = 5 39N./mm"2 9 = T eaus10 0z 5.28N/mm°2  fb = 7 83N/mm"2
®EL =320 .-539=059 1.0 ---0K ®ELk =528 .- 78 =067 = 1.0 ---0K

g =

[t=42d+] 1=8219 3 | F=960.0 kN cm™2

HEbhAHE =182 on(RaNL@ 1) N D 200 el T
J\K-tHHE = 04038 cm

0.4038 .~ 1.82=022 =100 - - -0k

[#=42d+] 1=8219.3 . E=9R0 0 kN'cm™2

UBhME =2 43 en(ZRA2@ 1/ 1500 A2 3 00 emil T
BXbHHE = 06643 cm

06643 .~ 243=027 £100 - - -0OK




HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47R : 2025% 028 118

HMEMDEHE

PAAAREBER #HETI SR 8-20
BRIEY 2F- O sm ERIEYF- DO —

S-P-F ERIE28K 2-210 S-P-F HIE2%R

2-210

YL HE~K4

Y2isl £1~X4

EER haRMN

EER haRMN

100.0] 2279.8 / 2279.8 1)[ 0.0] 3672.0 / 3672.0
2013.81 27.3 / 21.3 2)[113.81 27.3 / 21.3
3)[455.0] 587.6 / 587.6 3)[455.0] 968.5 « 968.5
4)0910,0] 511.4 / 511.4 4)[910.0] 838.0 « 838.0
5)01365.0] 443.5 / 4435 5)[1385.0] 722.4 / 722.4
61(1706.3] 27.3 / 27.3 6)[1706.3] 27.3 © 27.3
7111820.0] 2268.2 ' 2268.2 7)[1820.0] 3659.3 '/ 3659.3
&5 (MEEER  haREN 5 (MEIEER / hAEN
[BAHBF] Fs=1. 8N/mm"2 . Kd=1.10 . Kz=1 0 (2 AH] Fs=1 8N'mm"2 , Kd=1 60 . Kz=1 0
15 x 834 6(Q!) : 5 15 x 1353 3iQ) 5 5
Be =0 = 0. 66N/mn"2 £ = =011 = 0 96N/mR"?
1786000 (A 0.07N/mm"2  fs = 0 66N/mm 17860 00 (A} 0. 11N‘mm"2 s = 0 96N/mm
WEL =007 ~066=011 <100 -+ 0K WELE =011 - 09=0125 100 - 0K
[BBF] Fo=21.6N/mm 2 . Kd=1.10 . Kz=0.68 . Ks=1.00 (#8147 Fb=21. 6N/mm 2 , Kd=1.60 . Kz=0 68 . Ks=1.00
470394. 4im . 769072 3 (M . " X "
699510.00(2) 0.67N/mm 2 fb = 5 39N/mm"2 g = 699510 00(2] C10N‘mm™2  fb = 7 83N/mm"2
WEL =067 -539=012= 100 - - - OK WEL =110.-78=014=10 - 0K
[f=to+] 1=8218 3 | E=960.0 kN/cm 2 [#=to+] 1=621%. 3 | E=960 0 kN/cm'2
BEf-bHE = 0.9 omlRALO 1/ 2000 5D 200 emBl T BEbHE = 121 omlRALO 1150 D 100 enbl T
BXi=t#HE = 00214 cn BKXi=-tHHE = 00350 cm
0.0204 2 0.9 =002 <100 -+ - OK 0.0350 1,21 =003 £ 100 -+ - OK
FRARIF- 125 &3 FRARF- 1><1> a3 RS
S-P-F HiE2%k 2-210 S-P-F ERfE2#k 2-210
X128 YB~N¥12.1E.Y° 8. 66 nE 15y AI12.5, ¥a~X:!13.16,¥:8 66 T 35
1 4 §

2178 / 817.8 0.0/ &0 1437 ¢o/ 0.0
| |
| | | |
A pto2000 0 m A pto2000 0 m
e - BEM bARN " - BEM bARN
1)00.0] 401.6 / 401.8 15[ 0.0] 6887 6887
7)0170.81 41.0 /41,0 2:[170.61 41.0 /41,0
3)1620.6] 67.0 / 61.0 31 [620.6! 67.0 / 67.0
4)1682.5] 318.2 / 318.2 4)[682.51 547.1 / 8411
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1.5 x 401 8{Q) 3 s 1.5 x 617.6(Q) i ] iy
T = '7860.00:\"A_‘ =0.03'mm2 fs =0 66N/mn 2 T o= '7860.00:'_.A_- =0 0M'mm2 fs =0 96N/mmn"2
®EL =003 .- 066=005= 10 - 0K ®ELk =005 .09 =005 = 1.00 - - -02K
[BRF] Fh=21.6N/am"2 | Kd=1.10 . Kz=0.868 . Ks=1.00 [#8] Fo=21. 6N/mr"2 | Kd=1.60 . Kz=0.6E . Ks=1.00
250554. 2(M 397847.8(M
. . o hol .. . = 0571 . .
[od £99510.00(2) 0.36N'mn"2 fb = 5 36N 'mp 2 [od 899510 00(2) 0.5 /mn"2  fb = 7 83N/mm"2
®ELk =036 .-530=007 = 1.00 - - -0OK ®EL =057 - TB3 =007 £ 1.00 - - -0OK
[#=422+] 1=8219 3 . E=960.0 kN/cm'2 [#=42d+] 1=8219.3 . E=9R0 0 kN'cm™2
¥BEbhHE = 045 om(RAD@ 1/ 200 D 200 emBlF ¥B-hHE = 0.60 om( RN 1/ 1500 A 3 00 emlF
@Rt HE = 00086 cm J\mX-H#HE = 00136 cm
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X118 YE~%10,5 Y6 5 18 A12.5 Y8~ 10,5 Y6 W 350
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[170.61 40.9 | 40.9

11682.5] 343.0 / 343.0

(1706 40.9 © 40.9

m
2)1682.5] 1342 / 2342 2
3:[1365.0] 386.5 « 386.5 3)[1365.0] 6041 / 604.1
4)[2047.5] 538.7  538.7 41[2047.5] 865.3 / 865.3
5)12559.4] 41,0 / 41.0 51[2555.47 41.0 41,0
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[BAHBR] Fs=1 8N/mm'2 . Kd=1.10 ., Kz=1 0 [ AHf] Fs=1 aN‘am 2 . Kd=1.60 . Kz=1 0
1.5 x 656.9(Q! : 2 15 x 1016.1(Q)
T = = 0. 06N 2 fs =0 66Nnar"2 = — = 0. - = () BBN/mr "2
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WEL =006 - 066=008 <100 - 0K WEL =009 09 =009 100 - 0K
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503938. 7(M ) X . 784075 9 (M . " X "
699510.00(2) =0.72N'mm"2  fb = 5 39N/mm"2 g = 699510 00(2) C12N‘mm°2 fb = 7 83N/mm"2
WEL =072 .-539=013 = 100 - - 0K WEHk =112 .78 =014 =10 ---0K
[f=to+] 1=8218 3 | E=960.0 kN/cm 2 [#=to+] 1=621%.3 | E=960 0 kN/cm'2
BE-bHE = 1.36 oniRALO 1/ 2000 D 200 emBl T BEbHE = 182 cml RO 1/ 1500 D 100 embl T
BAXTbHE = 00521 cm BK=tHHE = 00811 cm
0.06%1 ~ 1.36=004 =100 -+ -0K 0.0B11 ~1.82=004 £ 100 - - -0K
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|
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HWEM | hAMN HWEM | thAmN
1)00.0] 401.6 / 401.6 15[ 0.0] 6887 6887
2)1279.41 87.0 / 61.0 i 41 67.0 ) 61.0
3)1682.5] 318.2 / 318.2 3)[682.61 547.1 / 5471
4)1729.47 41,0 /41,0 41[729.41 a1.0 ; 41.0
&5 [E@ GEM  haRN B [GEEEM  ham N
[ ABF] Fs=1 8N;mm 2 . Kd=1.10 , Kz=1 0 [EAMBR] Fs=1 8Nomm'2 . Kd=1.60 . Kz=1 0
1.5 x 401 8{Q) 3l s 1.5 x 617.6(Q] By A e
T = '7860.00:\"A_‘ =0.03'mm2 fs =0 66Nmn 2 T o= '7860.00:'_.A_- =0 03'mm2 fs =0 96N'mm 2
#EEL =003 .- 066=005= 100 - 0K REL =005 2096 =005 = 1.00 - - -OK
[BBIF] Fh=21.6N/am"2 | Kd=1.10  Kz=0.868 . Ks=1.00 [#HiH] Fb=21. 6N/mr 2 = Kd=1.60 . Kz=0.68 . Ks=1.00
250554. 2(M 397847. 8 (1
= = 0.36N/mn” b= 5 39N mm"2 = = 0.57 = %
g £99510.00(2) w2 fl 5. 39N/ mm g 899510 00(2) 0.57N/mm 2 fb = 7 83N/mmn"2
REL =036 .-530=007 = 1.00 + - +0OK ®EL =057 - TE3 =007 £ 1.00 - - -0OK
[#=422+] 1=8219 3 . E=960.0 kN/cm'2 [t=do#+] 1=8219.3 . E=960 0 kN/cm™2
¥BEbhHE = 045 on(RAL@ 1/ 200 A 200 emklF ¥B-bhHE = 0.60 omi RNV 1/ 1500 A2 3 00 emilF
@Rt HE = 00086 cm J\mX-H#HE = 00136 cm
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FEARC2F- 4><1> smms BBAC2F- 4><1> e
S-P-F HiE2%k 2-210 S-P-F HiE28K 2-210
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£5) (BEIEEM | hamN £3) (BB HEA | fbHmN
[ ABR] Fs=1 8Nmm 2 . Kd=1.10 . Kz=1 0 [ ABR] Fs=1 8N/mm 2 . Kd=1.60 ., Kz=1 0
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11[170.6] 40.9 | 40.9
2/[682.5] 343.0 / 343.0
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BAELL =006 - 066=008 £ 1.00 + - - OK
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21110237 1146.9 ~ 1146.9
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£S5 [DHHBE  LhaEN
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21[1023.7] 1908.0  1908.0
3)[1535.6] 41,0 ~ 410
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[BAHR] Fs=1 8N/mm'2 . Kd=1.10 . Kz=1 0
15 x 1187.3(Q) i 5
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17860, 00 (A} 0.10N‘mm"2  fs 66N.mr

WEL =010 .-066=0.15 = 100 - - - OK

[8(F] Fb=21.6N/mm 2 . Kd=1.10 . Kz=0.68 . Ks=1.00
574880. 3(M
699510.00{ 2"
BEL =082 .-530=015= 1.00 + - - OK

= 0.82N/'am'2  fb =5 39N/mmn"2

(¢ A8F] Fs=1 8N/mm 2 . Kd=1.60 . Kz=1 0
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BREL =017 - 096=017 £ 1.00 -+ 0K

[88(F] Fo=21.6N/nn2 . Kd=1 60 . Kz=0 68 . Ks=1.00
952763 4 (M g ) .
690510 00(z] " HNAm2 o= T BN/me2
BEL =136 78 =017 <100 -+ -0K

[#=4>2+] 128219 3 . E=960.0 kN/cm 2
HEt-bHE = 0.85 emiRALGD 1/ 2000 D 200 emBl T
BARTbHE = 00248 cm
0.0248 .~ 0.85=0.03 < 1.00 - - - OK

[#=4>+] 1=8219.3 . E=960 0 kN/cm'2
HEfbHE = 114 oeml RO 1 150 D 100 enbl T
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00410 .1.14=004 2100 - - -0K
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FEARC2F- 5><1-2> a3 (R
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S-P-F HiE2#K 2-210
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6)[2047.5] 783.4 / 783.4
7)[2388.8] 81.9  81.9
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&5 [GAIEEM  fbamN

[BABR] Fs=1 8N/am"2 . Kd=110 , Kz=1 0
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r = =0.14N'am'2  fs = 0 66N/mn 2

(- AMBR] Fs=1 8N/mm 2 . Kd=1 60 . Kz=1 0
15 x 2674.2(Q)

17860.00{ A
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=0 22M'mn'2 fs =0 96N/mmn"2
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[1=42d+] 1=8219.3 . E=960.0 kN.cm™2
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0.2406 .- 1.88 =0.13 £ 1.00 - - - Ok

(@8] Fb=21 6N/nn"2 _ Kd=1.60 _ Kz=D 68 . Ks=1.00
2045868 2(M) ) -
O = a0 0lz, LA fo =7 8N/
HEL =202 - 78 =037 <100 - - - 0K
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1514.8 / 1514.8
R4 0 | )
EER haRMN EER haRMN
000.0] 17967 /17967 1)[0.0] 30715/ 3077.5
2/(170.6] 40.9 / 409 2)(170,6! 409 / 409
3)[682.8] 10717 /10717 3)(682.5] 1779,2 / 1778 2
4)[1365.0] 843.3 / 8433 4)[1385.0] 1387.5  1387.5
5)[2047.5] 631.4 / 631.4 5)[2047.5] 1025.9 « 1025.9
6)[2559.4] 41.0  41.0 6)[2559.4] 41.0 - 41,0
7)[2730.0] 310.8 ' 310.8 7)[2730.0] §33.6  §33.6
S (MEEER | -haREN 5 (MEIEER / -hAEN
(AMBR] Fa=1 8N/om"2 - Kd=1.10 , Kz=1.0 (2 AHR] Fs=1 8N'mm"2 , Kd=1.60 . Kz=1 0
1.5 % 1342.8(Q) i 5 15 x 2192 6iQ) 5 5
E= = 0. 1IN fs =0 ‘mn” 2 E= =01 = (. U6N/mm" 2
17860, 00 (A} 0. 1IN/mn"2 5 = {0 66N/ mr 17860 00(A) 0.18N/mm"2  fs = 0 96N/mm
WELE =011 -066=017 2 1L00 - - -OK WEL =018 .709%=019 < .00 - - - OK
[BBIF] Fb=21.6N/am"2 . Kd=110 ., Kz=0.58 . Ks=1.00 [gBf] Fb=21. 6N/mm 2 , Kd=1.60 . Kz=0.68 . Ks=1.00
1097171 4{m!} . o P 1801891. 7{™M] " X .
699510.00(2) C5IN‘mn"2  fb = 5 39N/me"2 g = 699510.00(2) 2.58N/mm"2  fb = 7 83N/mm"2
#®EL =157 - 539=029 = 100 - - - OK ®EL =258 78 =033 <10 - 0K
[#=4>2+] 128219 3 . E=980.0 kN/cm 2 [#=4>+] 1=8219.3 . E=960 0 kN/cm'2
HEfbHE = 1.36 oniRALO 1/ 2000 D 200 emBl T HEbHE = 182 omlRALOD 1/ 1500 D 100 emBl T
BARTbHE = 01129 cm BKi=tH#HE =0 1854 cm
0.1129 .~ 1.36 =008 =100 - - -OK 01854 . 1.82=010 =100 - - -0K
AL DO &3 FRARL2F- DO e RS
S-P-F HiE2%k 2-210 S-P-F ERfE2#k 2-210
165 ¥4~X:8 871 )8 1.5+ A7B.8 Yd~X:B.8 ¥2 T 35

1514.8 / 1514.8
HEM  hARN i WEM | hARN
1E0.0] 1796.7 / 17967 15[ 0.0] 3077.5 / 3071.5
710170.6] 40.9 . 40.9 2:[170.61 40.9 © 40.9
3)1682.51 1071.7 /1071, 7 3;[682.51 1778, 1778.2
4)11365.0! 843.3 / 843.3 41[1365.0] 1387.5 13815
5)[2047.5] 631.4 / 631.4 5[2047.5] 1025.9 . 1025.9
6)[2559.4] 41,0 / 41.0 6)[2559.47 41.0 410
T [2730.07 310.8 ¢ 310.8 71 [2730.07 §33.6  §33.6
5 [BAIHER  hamN &5 [GAIEEM  fbamN
[ ABR] Fs=1 8N/mmn"2 | Kd=1.10 . Kz=1 0 [BABR] Fs=1 8N'mm2 | Kd=1 60 . Kz=1 0
15 x 1342.8(Q) 1.5 x 2132 6(Q}
Bl bl ™ ‘mn” = "2 = = ‘mn” = (o . 2
17860, 00 (A} 0.11M/mm 2 fs = 0 66N/mn 2 17860.00( A 0 184/mm 2  fs = 0 96N/ mr 2
BREL =011 7066=017 £ 1.0 - 0K REL =018 7096 =019 = 1.00 - - - OK
[gRIF] Fb=21.6N/am"2 . Kd=1 10 . Kz=0.6E . Ks=1.00 [#B{F] Fb=21.6N/mm"2 . Kd=1.60 . Kz=0 68 . Ks=1.00
10971714 (M} : o . = 1801891 7{M] i i .
g = 699510.00:(2'_ = 1L.5IN/mm’ 2 fb = 5 39N /mmn"2 g = £99510 00(2) = 2.58N/'mm"2 fb = 7 83N/mm"2
REL =167 -539=029 1.0 - 0K IRELL =258 - 783=03 <100 - -0K
[#=42d+] 1=8219 3 . F=960.0 kN om™2 [1=42#] 1=8219 3 . E=960 0 kN /cm™2
HBEbhME = 136 on(R/Avd 1/ 2000 5D 200 cmbl T HEbhMHE =1 82 cm(RALO 1/ 1500 A2 3 00 emlTF
BmK-HHE = 01129 cm B\X-H#HHE = 01854 cm

01129 .~ 1.36=008 =100 - - -0k 01854 .~ 1.82=0.10 £1.00 - - - OK




HAES 16787 5<H< Ver 2.0.0.3 build 20250116 %178 : 20254 028 118
BEMDEE
A RERER #HETSH 8-26

FEARCF- 8>1-1> amm FEAC2F- 8><1-1> e
S-P-F HE2#k 2-210 S-P-F @28 2-210

o8 1.5¢

XIS Y3~X 11,06 ¥°8. 66 o8 1.5 X105, ¥8~X!11 186, ¥:8, 66

|
| A 80000 am 2 | 82000, 0 am 2 |
EER haRMN EER haRMN

[ 00! 6887, 6887
1[i0.8! 410 410
[620.6] 67.0 / 67.0
[682.5] 547.1 + 547.1

1L 0.0! d01.6 / 401.6 |
Z)[170.61 41.0 ; 41.0 2
3:1620.6] 67.0 / 67.0 3
4,682,571 318.2 / 318.2 4

5 (AEIEER / haEN 5 (MEIEER / -hAEN
[BAHR] Fs=1 8N/mm'2 . Kd=1.10 ., Kz=1 0 [eAHE] Fs=1 8N/am 2 . Kd=1.60 . Kz=1 0
15 x 401 8{Q! : 2 15 x 617.6iQ) i =
E= =0 =0 ‘mm"2 E= =0 g = (). U6N/mr"?
1786000 (A ) 0.03N‘mm"2  fs 66N/ 17860 00(A) 0.05N‘mm"2 fs U6N/mr
WEL =003 -066=005 <100 - 0K WEL =005 .09 =005 <100 -« 0K
[88(F] Fb=21.6N/am 2 . Kd=1.10 . Kz=0.68 . Ks=1.00 [gBif] Fb=21. 6N/mm 2 , Kd=1.60 . Kz=0. 6B . Ks=1.00
250554. 2(M . 397847 8(M X .
699510.00(2) = 0.36N'mm2 fb =5 39N/mm"2 g = 699510 00(2 ) = 0.5N/mm’2  fb = 7 83N/mm"2
WEL =036 539=007 = 100 - - - OK #®EL =057 78 =007 £ 10 - 0K
[#=4>2+] 128219 .3 . E=960.0 kN/cm 2 [#=4>+] 1=8219.3 . E=960 0 kN/cm'2
HBb#HE = 0.45 on(RiN2@® 17 2000 &2 200 emBl T HB-bHE = 0.60 om(R/AO 171500 &2 3.00 cmlF
J\Ki=to#HE = 00086 cm BKRi=-tHHE = 00136 cm
0.0086 .- 0045 =002 <100 - - +-0OK 0.0136 - 0.60 =002 <100 - - -0OK

FEARCF- 8><2> Emaw FEAR<2F- 8><2> -
S-P-F ERFE24R 2-210 S-P-F EIE24K 2-210

EB Y5 §~N:B.5 nE 1584 HE WS E~XE & Y4 O 35
2 1 4 g 1 2 1 4 ]
Lo | ! . | | | .
JZAN N JZAN
1848 4, 18484 11374 / 1137.4 081, 6/ 30816 1862.5  1862.5
| A2 247 5 om | A= 27 5 mm
BEMR  +hAaRN HEM | hAaRN

£0.0] 761.4  761.4
11706 40.9 © 40.9

1100.01 1305.6 / 1305.6
L

(682,51 995.6 | 995.6 30
at
51

Bl 40.9 / 40.9
1 1648.6 | 1648.6
65.0] 1908.0 « 1908.0
76.9] 41.0 ¢ 48D

111365.00 1146.9 ~ 1146.9 1
[1876.9] 41.0  41.0

% o

o= w o

5 [BAIHER  hamN &5 [GAIEEM  fbamN
(B ABR] Fs=1 8N/am 2 . Kd=1.10 . Kz=1 0 [HAHBR] Fs=1. 8N'mm°2 | Kd=1.60 , Kz=1 0
15 x 1072.4(Q) L e 15 x 1756.00Q) L g
T = 17860, OOi.A_' =0.09N‘mm2 fs =0 66Nmn 2 T o= '7660.00:'_.A_- =0.15N'mm2 fs = 0 96N/mm"2
REL =009 - 066=014 <710 - 0K REL =015 096 =015 £ 1.00 - - - OK
[8RIF] Fb=21.6N/am"2 . Kd=110 . Kz=0.6E . Ks=1.00 [gi] Fb=21.6N/mr"2 = Kd=1.60  Kr=0.868 . Ks=1.00
712132.5(M ~ 1178692 1{M] : ) ~
g = £99510.00(2) = 1LO2Nmm' 2 fb =5 39N/mm"2 g = £99510 00(2) = LA /mm"2 fb = 7 83N/mm"2
REL =1.02.-539=019 £ 1.00 -+ -0OK IRELL =169 - 7832022 <100 - 0K
[#=42d+] 1=8219 3 . F=960.0 kN om™2 [1=42d+] 1=8219.3 . E=960 0 kN /cm™2
HBEbhMHE =102 om(RAD@ 1200 D 200 emBlF WBbhHE =136 cmRALD 171500 A2 3 00 emBlTF
J\Ki=tHE = 00452 cm J\KRiztHE = 0.0747 cm

0.0452 .~ 1.02=004 <100 - - 0K 0.0747 .~ 1.36 =005 = 1 00 - - - QK
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EEMDHE
BHARERER #ETEH 8-27

FEAR<2F- 8><1-2> s3m FEAR<2F- 8><1-2>

LERES

S-P-F ERFE24R 2-210 S-P-F BB S 22210

008 YE~NE V.6 6 nE 15 A110,5,¥8~X0 15 §

o8 1.5¢

813.9 / 813.9 a4 /g g

| RiN=300 8 ma s | RYAVECT RN ] S
BER LhAaRN BER LhAaRN
11{170.6] 40.9 © 40.9 [170.6] 40.9 / 40.9
2)1682.6] 1347 / 2342 1[682.5! 343.0 / 343.0
1 [1365.0] 386.5  386.5 [1365.0] 6041 / 604.1
[2047.5] 838.7 / §38.7 [2047.5] 885.3 / 865.3
{2730.0] 691.0 ' 691.0 [2730.0] 1126.4 © 1126.4
1[3241.9] 41,0 / 41,0 [3241.9] 41,0 © 41,0

@ ¢ e ow
@ n e o —

£S5 [DHHER | hAEN

£S5 [DHERE  hAEN
[BAHR] Fs=1 8N/mm"2 . Kd=1.10 . Kz=1 0 [ AHf] Fs=1 8N/mm 2 . Kd=1.60 . Kz=1 0
I 1054 5(Q) . 5 1 1670.2( Q) Z 5
= 5'7)(860?00:::0_0‘0% mm' 2 fs = 0 66N/'mr"2 t = LI 2IG'0. 14N‘mm"2 s = 0 96N/'mn"2

17860 00 A}

REL =009 - 066=0.13 100 - - 0K WEL =014 096 =015 100 - - -0K

[#(F] Fb=21.6N/mm"2 . Kd=110 . Kz=0.68 . Ks=1.00
948589. 9 (M)

699510.00(2"
®EL =136 - 530=020 = 100 - - -0OK

[g849] Fb=21. 6N/nn"2 . Kd=160 . Kz=0 68 . Ks=1.00
e 2 R 1508864 3({M)
= 1.36N/mn’2  fb = 5 39N/me"2 599510, 0013)
BEL =216 .- 78028 =100 - 0K

= 2.16N‘am'2  fb = 7 83N/mmn"2

[F=tod+] 1=821% 3 | E=960.0 kN./cm 2 [#=t>+] 1=8219.3 , E=960 0 kN/cm'2

BE-bHE = 1.7 onlRALO 1/ 2000 D 200 enbl T HBEbHE = 227 cniRAL@G 1 1500 54D 3.00 emil T
\|X-bHHE = 01533 cm \|KRI=bHE = 0.2428 cm

0.1533 .~ 1.71 =009 <100 - - - OK 0.2428 - 2.27=011 2100 - - -0OK

RIE Y C2F- 25O Eams) RIEYCQ2F- 25O

Mg RS

~AUVEDE120-F330 610 ~ALUVEDE120-F330 610

ESE LY Yd~¥D

NEHL Y~V

| A 120236400 mm | 5420736400 mm
WER  haRN WER  haRN

1[3185.0] 2404.9 © 1782.8 1)[ 0.0] 10401 / j040.1 [3185.0] 24049 / 1752.8

1[3526.3] 137.6 / 101.4 2)[113.81 137.6 / 101.4 [3526.3] 137.6 / 101.4

1[3640.0] 1398.0 / 1398.0 3) [485.0] 2250.3 / 1598. 1 1[3640.01 1868.0 ; 1868.0

4)[910.07 2250.3 / 1598. 1

) [1365.0] 2250.3 © 1598.1

6)[1820.07 3894.6 « 32424

7)[2275.07 2404.9 | 1752.8

£0.0] 10401 / 10401

2)1113.8] 137.6 / 101.4

311485.0] 2250.3  1598.1
411810.0 2250.3  1598.1
§111365.0] 2250.3 / 1598.1
6)(1820.0] 3894.6 = 32424
7)12275.0] 2404.9  1752.8
81[2730,0] 2404.9  1752.8

Zig e
=S«

&5 (G gEM  hamN 8)[2730 0] 2404 9 , 1752, 8 B2 (L@ IGER  hAaMN
[ ABF] Fs=3. 6N,mn"2 . Kd=1 10 . Kz=1 0 B A Fo3 6N a2 Ka1 60 Kol 0
15 x 9183.6(Q) i . 15 x 9183.6(Q) yir )] y
32900.00(A) 0.42N/mm2  fs = 1 32N/mn 2 900 00ia 0.42M/mm 2 fs o= 1 G2N/me 2

WEL =042 1322032 1.0 ---0K WELk =042 21922022 100 - - 0K

[#(F] Fb=33.0N/mr 2 k Kd=110 . Kz=1.00 . Ks=1.00 (] Fb=33. ON/mm"2 . Kd=1.60 . Kz=1.00 . Ks=1.00

9913975, 7 (M) 9913975 7(Mm)
h = ‘mn” b= 10N - = bk
1268580 00(2) | CoWmZ fl= 12 1ON/m 2 O 1288560 00(2)

REL =769 - 1210=064 = 1.00 - - -OK REL = 7.69 .- 17.60 =044 < 1.00 - - - OK

o= = 7.69N/mm'2  fb = 17.60N,/mm 2

[1=42d+] 1=15140 9 | F=1200 0 kN/cm™2

FEbhHE =091 oniRAVD 1/ 4N 5D 100 enklF HBhHE =121 cn(RALD 1) K
‘KR bHAHE = 07614 cm B|BKRI-bHHE = 0.7634 cm
0.7634 .~ 091 =084 =100 - - 0K 0.7634 .~ 1.21 =063 = 100 - - -OK
[T 1214514595 ]

[T=d#+] 1=15140.9 . E=1200 0 kN/cm'2

D 200 embl T

BHBEbhAHE = 1.46 cmiRNAD 1) BB0ienll T
BX-hdH@E = 11502 cm

11502 .~ 146=079 =100 - - -0K
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EEMDHE
BHARERER #ETEH 8-28

RIE Y <2F- 55O s R
S-P-F ERIE28K 2-210

RIE Y <2F- 55O . R
S-P-F HFE28K 2-210

AL Fi~¥D

MBI Ta~D

A i11,73640.0 m

R i82,23640.0 nm
2ss BER  LhARN
1000 6336 1 6331 §13185.0] 7935 | 6550 0100l 8771 8701 913185.0] 7955 | 6550
Z)103.81 2106 7 1331 101 [3526 31 2106 / 139 1 2)[113.81 211.6 / 139.1 107 [3526.3] 2116 / 139, 1
3145507 799.9 / 655.0 1) [3640.07 32837 / 3283.7 3)[455.0] 799.9 © 655.0 11][3640,0] 4456.9 © 4456.9
4[910.07 799.9 / 655.0 4)[910.0] 799.9 © 655.0
51[1365.0] 799.9 / 655.0 5)[1385.0] 799.9 / 655.0
6)11820.0] 799.9 ' 655.0 6)[1820.0] 799.9  655.0
7)(2275.0] 199.9 ' 655.0 7)[2275.0] 799.9 / 655.0
81(2730.0] 199.9 ' 655.0 &5 8 228 -haRN 8)[2730.0] 799.9 / 855.0 &5 08 2EE  -haRN
(B AKR] Fs=1.8N/mn"2 . Kd=1.10 . Kz=1.0 (e 48] Fa=1 8N/mm 2 . Kd=1 60 . Kz=1 0
- 51;63?;;:2‘\":0’— 0.35Nan2  fs = 0. 66N/mn "2 p=! !’17’;630;;:2:0'— 0.25N/an2  fs = 0 BN/n 7
BEL =025 2 066=038 < 100 - - - OK BEL =025 2 096=02% < 100 - - 0K
[Eh(F] Fbe21 6N/nm'2 . Kd=1 10 . Kz=0 68 . Ks=1 00 [gf] Fo=21 BN/nm'2 . Kd=1 60 . Kz=0 66 . Ks=1 00
égggfgsog'\zﬁ = 4.20Nan2  fb = 5 39N/an"2 grim = oot 1{M)

6a0510 00(z) © HANmM2 fo =7 82
BEE =420 520 =078 £ 1.00 - - - OK HAEL =420 - 783 =05 £ 1.00 - - - OK
=] 128219 3 . E=960.0 kN/on 2

HEbHE = 0.9 oniRALO 1/ 4000 B 100 emBl T

[f=d#] 1=8219.3 . E=960 0 kN/cm'2

HBEbOHE = 121 emiRALO 1300 D 200 emBlF
fXi-bHHE = 0.5362 cn f‘Xi-hHHE = 05362 cm
0.5362 .~ 091 =059 <100 - - +-0OK 0.5362 . 1.21 =044 <100 - - - OK
[ERI121E14595

HBhHE = 146 cn(RADD 1) 2500cml T
BXf-hdH i = 08763 cm
0 8763 .~ 1.46 = 0.60 < 1.00 - - - OK

RIE Y C2F-1150 sm R

RIEY QF-11>0 o g
ALVvEDE120-F330 610

~ALUVEDE120-F330 610

X010, 5L YE~Ya

LISEY Y8~Yd

Ll LDl

1 10734.7 101554
| A 51236400 mm | | 251236400 mm
HEM | hAaRN HEM | hAaRN

100 0.0] 21853 / 2185.3 91[3185.0] 1937.7 / 1792.8 D[ 0.0 3136.6 / 31368.6 91[3185.0] 2585.8 / 14449

2)1113.8] 229.8 1513 107 [3526.3] 229.8 / 151.3 2)[113.8] 229.8 / 157.3 107 [3526.3] 229.8 / 151.3

31(455.0] 1302.0 « 1151.1 111[3640.0] 6231.6  5651. 9 3)[455.0] 1500.0 / 1355.0 117 [3640.01 7821.6 / 7241.9

4)[810.0] 1781.5 = 1836.6 4)[910.0] 2187.3 | 2042.4

§01365.0] 720.4 575, §)01365.0] 720.4 | 575.4

6){1820.0] 292%.0 / Z784.0 6)[1820.07 4037.0 = 38921

7)12275.0] 19111 1766.2 7)[2275.07 2544 4 . 23885

81[2730,0] 1987.3 .« 1842.4 &5 [G@IGEA  hHEN 8) (2730 07 2675 0 « 2530.1 B [GFIGEM  fhamN
T AR Fs=d oNan 2 Kd=1.10 . Kz=1.0 (AR Fs=3 6N an2 . Kd=1 60 . Kz=1 0

532"902‘92551.95. 0.3M/mn 2 fs = 1 32Nan°? Jz5 > 96 3ta

32800.00(A) - O 42Vn2  fs = 1. 52N ne’2
WEL =032 -132=02 2100 - 0K

REL =042 21922022210 ---0K

[#(F] Fb=33.0N/mm"2 . Kd=110  Kz=1.00 . Ks=1.00 (] Fb=33. ON/mm"2 . Kd=1.60 ., Kz=1.00 . Ks=1.00
6939326. 6 (M 1= . : i 9070840 7{M)
g = 1288580 00{2] 5.39N/mm’2  fb = 12. 1ON/mm"2 o=

1288580 00 2y - 1 0aN/mR2  fh = 17. 60N nn"2

®ELk =539 - 1210=045 2 100 - - -OK ®EL =704 - 17.60 =040 < 1.00 - - - OK

[1=42d+] 1=15140 9 | F=1200 0 kN/cm™2 [#=42d+] 1=15140.9 | E=1200 0 kN/om™2
FEbhHE =091 oniRAVGD 1/ 4N 5D 100 enklF HBEhME =121 en(ARAD@ 1/ 3000 HD 200 emBlTF
BRI b#HE = 05357 cm B|BKRI-bHE = 0.6971 cm
0.5357 .~ 091 =059 £100 - - -0OK 0.6971 . 1.21 =057 £100 - - - OK

[T 1214514595 ]

HBbHE = 1.46 on (RO 17 250iemll T
BXf-hd i = 09862 cm

0.9862 . 1 46 =068 <100 - - 0K




HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 118

HMEMDEHE

S-P-F ERIE28K

PAHARERER #HETI SR 8-29
PRI Y 2F-12><2> sain BRIZ Y <2F-125<2> pre

2-210 S-P-F HFE2#K 2-210

YL Ki~X0

YigL Xl~ED

0o/ ©o adgg 1 [/ Taa &0
| | |
| ZaAw=R0,0 am s | Z#4=R10,0 am s |

BER  haRN BER  haRN
03,81 2116 /1381 170013, 81 21016 / 1381
20145501 423.1 / 278.2 27 (456,01 4221 /7782
3:[796.3] 211.6 / 1391 31[796.3] 211.6 © 139.1
4)[910.07 2699.6 / 2699.6 41[910.0] 36219 / 3621.9
B2 (MFBEE  haREN B2 (08288 haREN
(4D Fa=) 8N/mm"2 . Kd=1.10 . Kz=1 0 (A8 Fs=1 8N/mm 2 . ¥d=1. 60 . Kz=1 0
15 x 3545 BiQ) i ; 15 x 4465.10Q) Z ;
t = =030 3=0 ‘an? o] =0, = 0 6N/ mm "2
17860, 00 (A} 0. 30Nme°2 s 66N/ 17860 00(A) 0.38N‘mm"2  fs 46N
BELL =030~ 066=045 <100« 0K REL =038 0.96=039 £ 1.00 -+ 0K
[gh(F] Fb=21.6N/mm 2 . Kd=1.10  Kr=0. 88 . Ks=1.00 [#1F] Fo=21.6N/am"2 , Kd=1.60 . Kz=0.68 . Ks=1.00
2841649 8{M) . e 3680989. 3{M ) .
O 599510.00(2) = 4.06N'mn'2  fb =5 39N/mn"2 §98510.00(2) =5.26N'mm2 fb =7 83N/mn"2
REL =406 -539=075 <10 - 0K IRELL =526 - 783 =067 <100 - -0K
[f=4o#+] 1-8219.3 . E=880.0 kN/cm'2 [t=tod+] 1=B218.3 . E=960 0 kN/cm 2
HEbHE = 0.23 eniRALO 1/ 4000 5D 1.00 eml T BEbHE = 030 cmiRALO 1) 3000 D 200 emBl T
BXTbHE = 00994 cm BX=bHHE = 01288 cm
00994 ~ 023=044 =100 + - 0K 012688 ~0.30 =042 100 - - - 0OK
[FR121 514595
HBh&E = 038 en(RADD 1) 250icm T
BRI @ = 0 1896 cm
0189 .~ 03 =05 =100 -+ 0K
RIZ Y <2F-12><1> A FRIE Y <2F-12><1> o3 e
S-P-F EHRIE28K 2-210 S-P-F HiE28K 2-210
YL §1~¥5 YigLl Xl ~55

19750

13953 1786, 6 1206.%
| As123640.0 mm | | 251236400 mm
HEM | hAaRN HEM | hAaRN
013,87 210,68 / 138,1 913526 31 210,65 / 1331 1D0113.81 211.6 / 138.1 9] [3526.31 210,65/ 139, 1
2145501 4231 /2782 2)[455.0] 4231  278.2
310910.0] 4231 2722 3)[910.0] 423.1 ; 278.2
4)01365.0] 423.1 2732 4)[1365.0) 423.1 / 278.2
5:(1820.0] 423.1 © 278.2 5)[1820.0] 423.1 / 278.2
6)[2275.0] 423 1 / 2782 6)[2275.0] 423.1 / 278.2
7 12730.0] 799.9 7)[2730.07 799.9 . 655.0
81318507 423 1 / 278.2 &5 [G@IGEA  haEN 8)[3185 0] 423.1  278.2 #8)[a@EEM | haMMN
[ ABF] Fs=1 8Nmm 2 . Kd=1.10 . Kz=1 0 (B AMBR] Fs=1.8N'mm2 . Kd=1. 60 . Kz=1 0
15 x 1875.0(Q) 15 x 1975.0(@)
- SO o man 2 fs = 0 66N /an 2 DS o N2 fs = 0 96N an°?
‘ 17860, 00(A ) g s e 17860.00( &) AN & = BN e
HEL =017 0660252100 - - -0K BEL =017 - 096 =017<1.00 - - - 0K
T@(F] Fo-21.6N/mn2 . Kd=1 10 _ Kz=0.86 . Ks=1.00 TEHT] Fb=21 BN/nn 2 . Kd=1.60 . Kz=0.66 . Ks=1.00
1735601, 9 (M) 1735601 9(M) <
- = 2. 48/n fb = 5. 30N/mn"2 - = 2.48/mn2 b = 7 83N/mn"2
7 7 T699510.0012) /w2 B 3an/mw 9 % 7699510 00(z) /o "
BIEL = 2.48 - 530 =045 £ 1.00 - - - OK B =248 . 78032 < 1.00 - - - 0K

[t-42d+] 1=8219 3 | E=960.0 kN 'om'2
HBbhHE =09 oniRAVD 1
B\X-h#HE = 03219 cm
0.3219 .# 0.91 =0.35 =
[FRLI2 514505 ]

HFBbhHE = 1.46 oniRNAVD 1
BXfhd i = 04478 cn
0.4478 .~ 1 46 =031 <1

100 - -

00 - -

4000 A2 1 00 emlF

s OK

2501 empd T

cOK

| 1=8219.3 . E=960 0 kN/cm™2
HBhHE =120 onRAVD 1
BXbHHE = 03219 cm
0.3219 .~ 1.21 =0.27 =

3000 A2 2 00 emlF

100 - - -0OK




HhHES 16787 5<4< Ver 2.0.0.3 build 20250116 %47R : 2025% 028 118

EEMDHE
BHARERER #ETEH 8-30

PRIZY <2F-13><2> nis BRIE U <2F-13><2> e
S-P-F FTB24R 2-210 S-P-F B2 2-210

YUt £l ~50

YU Ki~X0

oo L8] adgg 1 [/ Taa

| |
| ZA=EI0 0 e 2 | 4258100 o 2 |

EER haRMN EER haRMN

03,81 2116 /1381 11[13.81 21,6 / 133.1
27[455.01 4211 / 278.2
31[796.3] 211.6 © 139.1
4

[910.0] 3621.9 / 3621.9

2)1485.0] 423.1 [ 278.2
3:[796.3] 211.6 / 1391
411910.07 2699.6 / 2699.6

B2 (MFEEE | haREN

(4D Fa=) 8N/mm"2 . Kd=1.10 . Kz=1 0 [ AHf] Fs=1 8N/mm 2 . ¥d=1. 60 . Kz=1 0
15 x 3545 f(Q)

i 5 1 5 x 4468 1iQ!
¢ = =032 fs = 0 66NmR? g
17860.00(a; AN s " 17860 00( A}

BEL =030 .-066=045 = 100 - - -0OK REL =038 - 0.96=039 £ 1.00 - - 0K

= 0.38N'mm'2  fs = 0 96N/mr"2

[ghif] Fb=21.6N/mm"2 . Kd=1 10  Kr=D 88 . Ks=1.00 [#1F] Fb=21.6N/am"2 , Kd=1.60 . Kz=0.68 . Ks=1.00
2841649 8 (M)

: % 1 X 3660989, 3(M)
T aesi0.00(z) Nz fb =5 3oN/me2 © 699510.00(2)

®EL =406 - 539=07 =100 ---0K ®EL =52 - 78 =067 =100 ---0K

= 5.26N'mm'2  fb = 7 83N‘mmn"2

[#=4>2+] 128219 3 . E=980.0 kN/cm 2

UBEbHE = 0.23 eniRAL@G 1 4000 5D 1,00 emil T
BXTtHE = 00994 cm

0.0994 -~ 023=044 =100 - - -0OK

[ER 121514595

HBhHE = 038 en(RADD 1) 250 cm T
BXr-4d @ = 0 1896 cm

0189 .~ 03 =052 =100 -+ -0K

[#=to+] 1=621%.3 | E=960 0 kN/cm'2

HBEbHE = 030 om(Ri® 17 3000 D 200 emBl T
BXbHE =0 128 cm

01268~ 0.30 =042 <100 - - - OK

BRIEY <2F-13><1> s BRI Y <2F-13><1> amran
S-P-F HE2#k 2-210 S-P-F EiE2%K 2-210

YUBLY K1~48 YUY K ~48
1 L) 1 4 3 [ 7 ] ] H 3 4 5 ] 7 g g
| | | | | | | | | | | | | | | |
B92.4 11127 a7 16924 /112y 692.4 ;1N T
| A 4223640, 0 o | | A 4223640, 0 o
WEM | fhAamN WEM | hamN
(113,81 2116 / 139,1 913526 31 2106 / 1381 113,81 2116/ 1391 913526 31 2116 | 1391

1455 0 423.1 /2782

2 2)[455.0] 423.1 ; 278.2
311910.0] 423.1 / 278.2

4

al

3)[910.07 423.1 / 278.2

(1365.0] 423.1 /273 2 4)[1365.0] 423.1 | 278.2

1820,07 423,1 / 2762 §)[1820.07 423.1 / 278.2
6)]2275.0] 4231 / 278.2 6)[2275.0] 423.1 / 278.2
7)12730,0] 4231 / 278.2 7)[2730.0] 423.1 / 278.2
8)[3185,0] 423 1 / 278.2 &5 [B@ GFm  haRN 8)[3185.0] 423.1 / 278.2 &5 (@ @FM  fchamn
(B ABR] Fs=1 8N/amn 2 = Kd=1.10 . Kz=1 0 (B ABR] Fs=1 8N/mm'2 . Kd=1.60 . Kz=1 0
e o 'Sg;'_-AIG'I-O.MN mm 2 fs =0 66N/'mn 2 T = JE5. x1:4692 AIG.-O.MN om 2 fs = 0 G6N/mr 2
17460. 00 (A}

17860.00( A}

®EL =014 - 066=022 =10 ---0K RELk =014 096 =015 = 1.0 - - -02K

[gRIF] Fb=21.6N/am"2 . Kd=1.10 ., Kz=0.6E . Ks=1.00 [#B{F] Fb=21. 6N/am"2 . Kd=1.60 . Kz=0. 6B . Ks=1.00
1564164 4 (M}

s 1564164 4(M) _ .
9= goosi0.00(z) 2 2Nmm2 fb =5 3N/m2 o= = 2.2N/mn2 b = 7 83N/mn2

699510.00{2)
REL =224 - 530=042 = 1.00 - -+ 0K ®EL =224 278 =029 1.0 ---0K

[1=42d+] 1=8219.3 . E=960.0 kN.cm™2

HBbhHE = 0.91 oniRALG 1/ 4000 A2 100 emilF
@R HE = 0.2862 om

0.2862 .- 0.91 =0.31 £1.00 - - - OK
[FERI 22 E14595]

HEbOHE = 1.46 oniRALD 17 250)cmpl T

BXf-hd i = 03763 cm

0.3762 .~ 146 =026 £ 100 - - - 0K

[t=42d+] 1=8219.3 _ E=9R0 0 kN'cm™2

HBhHE =121 om RNV 1/ 3000 A2 2 00 ek F
BXbHHE = 0 2862 cm

0.2862 . 1.21 =024 =100 - - - OK
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BEMDETE
Pr4ARERER #HETSH 8-31

PRIZY <2F-21><1> nis BRIE U <2F-21><1> e
S-P-F FTE24R 2-210 S-P-F B2 2-210

B G W~Yi-) NB @Y YO~Y

o0 54 F356.1 0.0 0.0

A =H0.0 mm | Arins30 0 mm |

EER haRMN BER haRN
Lol 37674 / 31672 110 0.0] 54647  5464.7
2)1113.8] 119.4 [ 83.2 2 [013.8] 119.4 / 83.2
3145507 518.1 / 4457 3] [485.01 518.1 © 4457
4)0796.3] 119.4 / 83.2 41[796.3] 119.4 © 83.2
§11910.0] 279.3 / 279.3 §/1910.07 279.3 © 279.3

£S5 [DHHER | hAEN B2 (08288 haREN
[BAHF] Fs=1 8N/mm'2 . Kd=1.10 . Kz=1 0 (A8 Fs=1 aN‘am 2 . Kd=1. 60 . Kz=1 0
15 x 1036.3iQ) i ; 15 x 1036.3iQ) Z ;
E= =0 = ‘n2 E= =0 = {0 86N /mr"?
17860, 00 (A} 0.09N‘mm"2  fs = 0 66N/mm 17860 00(A) 0.09N‘mm"2  fs = 0 96N/mm
REL =009 ~066=013 <100 -+ 0K REL =009~ 096=009 £ 100 -+ 0K
[ghif] Fb=21.6N/mm"2 . Kd=1 10 ., Kz=0 68 . Ks=1.00 (] Fb=21.6N/mm 2 , Kd=1.60 . Kz=0 68 . Ks=1.00
598571. 4im i X . 598571 4{M i X .
699510002 =0.86N‘mm'2 fb =5 39N/mn"2 0 = eeem10 00z =0.86N'mm2 fb = 7 83N/mn"2
1REL = 0.86 .- 5.39=0.16 < 1.00 - - - OK 1REL =086 78 =011 <10 - 0K
(#=t>#+] 1=8219.3 . E=960.0 kN/cm 2 [t=tod+] 1=8219.3 . E=960 0 kN/cm 2
HEf-bHE = 0.23 emiRALO 1/ 4000 5D 1.00 emd T HEbHE = 030 cmiRALO 1/ 3000 D 200 emBl T
BKX=tH#HE = 0.0209 cm BX=bhHE = 00209 cm
0.0209 .~ 0.23=0.09 £ 1.00 - - - OK 0.0209 - 0.30 =007 =100 -+ -0OK
(121514595
HBhHE = 0.36 cn(RATD 1) 250 cm T
BXf-hdH @ = 0.0373 cm
0.0373 .~ 0.36=0.10 = 1.00 - - - OK

RIEY <2F-21><2> s BRI Y <2F-215<2> amran
S-P-F BBk 2-210 S-P-F EiE2HK 2-210

KBSl YO-d

ESENT DR RS L)

1 H 3 4 ] B 7 8 910 2 3 4 g ] 7 g g 10
| | | | | | L | | | | | | | | L
N AN AN
B92 4 msz7 2484 0 /16105 1642 4 1mz17

28840 /18145

| 5420236400 mm | 512273640, 0 mm

HER  hamNM WER  hamN

L3817 2106 /1391 91[3526.3] 211.6 / 139.1 1)[113.87 2016 / 139.1 91[3526.3] 2116 / 139.1
2)1455.0] 4231 / 2722 107 [3640.0] 7916 / 501.8 2) [455.01 4231 ; 278.2 101 [3640,0] 781,86  501.8
3)1910.0] 423.1 / 2782 3)[910.0! 4231 ; 278.2
4)11365.01 423.1 / 2782 4)[1365.01 423.1 / 278.2
5)(1820.07 423.1 2782 8) (1820 ] 4231 / 278.2
6)[2275.0] 423.1 / 278.2 6) [2275 4231 /278.2
7)12730.0] 423.1 / 278.2 7 (2730 4231 7 278.2
8)[3185,0] 423.1 / 278.2 &5 [E@ GEM  halN 8)[3185.0] 423.1 / 278.2 5 [a@gFM | FbHEN
[BABR] Fs=1. 8N/am 2 = Kd=1.10 , Kz=1 0 (2 ABR] Fs=1 8N'mm"2 , Kd=1.60 . Kz=1 0

r = 5'7)(560.6:(’).:;:9:_ 0.14N/mm 2 fs = 0 66N/an 2 —— 5'7);60.62(2!?."2_-0 =0 1N/ 2 fs = 0 96N/mn"2

WEL =014 - 066=022= 10 +-+0K WEL =014 09 =015 210 + -+ 0K
[88(F] Fb=21 fN/mm"2 . Kd=1 10 . Kz=0 6E . Ks=1.00 [#B{F] Fb=21. 6N/am"2 . Kd=1.60 . Kz=0. 6B . Ks=1.00

g = ;zg;:gdogzg =2.24N/om’2  fb = 5 39N/'mm"2 g = s;g:\gdog‘r; =2.240/'mm2  fb =7 83N'mn"2

WEL =224 ~539=042 <100 + - +0OK WEL =224 - 78=029 L2100 +-+0K
[1=42d+] 1=8219.3 . E=960.0 kN cm™2 [t=42d+] 1=8219.3 _ E=9R0 0 kN'cm™2

HBbhHE = 0.91 oniRALG 1/ 4000 A3 100 emlF HBhMHE =121 om RO 1/ 3000 A2 2 00 ek F

B\X=h#HHE = 0.2862 cm WK=& E = 0 2862 cm

0.2862 .~ 0.91 =0.31 £1.00 -+ -OK 0.2862 . 1.21 =024 =100 -+ -0OK

[T 1214514595 ]

HEfbHE = 1.46 oniRNLD 17 250)cmpl T
BXf-hdH i = 03763 cn

0.3762 .~ 146 =026 £ 100 - - -0OK




HAES 16787 5<H< Ver 2.0.0.3 build 20250116 %178 : 20254 028 118
BEMDEE
A RERER #HETSH 8-32

BRIZY 2F-200 il BRIE U <2F-245C> e
S-P-F FTB24R 2-210 S-P-F B2 2-210

HUEY YR~ 6 26 H4EY va~Y:528

8202 5 m 2 |
EER haRMN

i 2802 5 m 2
EER haRMN

170001 1353.8 / 1353.8 1750
BaE 21323 DiLE 2.3/ 203
3)[455.07 333.9 / 333.9 3)[455.0] 333.9 © 333.9
4)[910.07 333.9 / 333.9 4)[910.0] 333.9 © 333.9
5101365.0] 333.9 ' 333.9¢ 5)[1365.0] 333.9  333.¢
671820.0] 333.9 / 333.9 6)[1820.0] 333.9 / 333.9
11(2275.0] 2641 264 1 7)[2275.0] 2641 /2641
§(2502,5] 3491 / 3491 B8 [ABIHER | fhaEN ©02602,6] 349, 1 / 340.1 55 UEISEA  LhARN
e ABR] Fs=1 BN 2 . Kd=1.10 . Kz=1.0 @A) Fo=l BN/an2 . Ko= 60 . Kz=1 0
T = 37)(8624303;‘ = 0.0Mm 2 fs = 0 66NAR? poosm !’17’;634303:":' <002 fs = 0 S6N AR
BEL =007 2 066=0.11 <100 - - -0K BEL =007 ~096=007 < 100 - - -OK
(#8051 Fo=21 6N/mn'2 . Kd=1 10 . Kz=0 68 . Ks=1.00 [€8(F] Fo=21 6N/mn'2 . Kd=1 60 . Kz=0 68 . Ks=1 00
z;g;?g gOMZ = 0.82Nmn2  fo =5 30Nn"2 o= 2;5;82 gOMZ =0.8Nmn2  fo =782
B =082 530015 < 1.00 - - - OK B =08 - 782010 1.00 - - - OK
T7>d+] 1-8219 3 . E=960.0 KN/om 2 Tt 1-6219.3 . E=960 0 kN/om'2
BELbHE = 0.63 on(AALD 1/ 400) B 1,00 el F HBhHE = 0.83 en(RALD 1/ 300) D 200 cnlF
Bktha B = 0.0508 o Bktba B = 00508 on
0.0508 4 0 63 =008 <100 - - - OK 0.0508 © 0.83 =006 <100 - - - OK

[ER 121514595
HBhHE = 100 cn(RADD 1) 250 cml T
BXf-hdH@E = 01016 cn
01016 - 10=010=100 -+ 0K

BRIEY <2F-25)<2> s BRIZ U <2F-255<2> amran
S-P-F HIE2#k 2-210 S-P-F BiE2%K 2-210

Y6 25y X6 25~82 V05250 X5 2E~x2

AN JZAN
2178 19436 0370 /18006

WER ) haRN hA RN
1)1227.5] 428.3 / 375.9 1)[227.5] 448.3 / 375.¢
2)1682.5] §18.1 / 445.7 2)[682.5! 5181 ; 445.1
3111137.5] 1436.3 © 1363.8 3)[1137.5] 1436.3 © 1363.8
411892.5] §18.1 4457 4)[1892.5] §18.1 | 4457
§112047.5] S18.1 / 4457 §)[2047.5] §18.1 / 4457
6112502.5] 518.1 / 445.7 6)[2502.5] 518.1 / 445.7
7)[2843.8] 119.4 | 832 7)[2843.8] 119.4 / 83.2
8112957.5] 133.6 / 139.6 &5 [B@ GFm  hamN 8)[2957.5] 133.6 / 139.6 &5 (@ @EFM  chamn
[BABR] Fs=1 8N/am 2 | Kd=1.10 , Kz=1 0 (2 ABR] Fs=1.8N'mmn"2 , Kd=1.60 . Kz=1 0
1.5 x 2179.11Q) 1.6 x 2178.1(Q}

T = =0.184/am'2  fs = 0 66N/mn 2 =0 184/'am'2 fs = 0 G6N/mn 2

17860. 00 (A 17860.00{ A
HEL =016 .- 066=028 = 100 - - - 0K WEL =018 .- 096 =019 = 100 - - - 0K
[EB(F] Fb=21 6N/nn 2 Kd=1 10 | Kz=0 66 . Ks=1.00 [EH1F] Fo=21 6N/mn 2 _ Kd=1 60 . Kz=0 68 . Ks=1.00
1635050 4 (n) 1635050 4 (M) =
= S 2 6Mmm2  fb = 5 39N/mn2 = =2 62M/mm’2 b =7 83N/an2
O 7 T699510.0012) m B 3an/mw O 7 T699510.00{z) /o "
WAL =262 .- 539 =049 <100 - - 0K WAEL =262 .- 78 =03 <100 - - - 0K
[F<42d+] 1=8219 3 . F=960.0 kN/cm'2 [t=d] 1=8219.3 . E=950 0 kN'cm'2
HBbhHdE =074 on(RA0 1/ 4000 D 100 eml R HBT-hHE =099 om(R/Avd 1/ 3000 HD 2 00 ol F
BAIbHE = 0.2130 on BARb#HE = 02130 on
0.2130 ~ 074=0.29 < 1.00 - - - OK 0.2130 0992022 =100 - - - OK
(SRR 212414508 ]

HBhHE = 1,18 on(RA® 17 250)cmEl T
BXf-hd i = 03832 cm
0.3832 .~ 118=032 2100 -+ -0K




HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47R : 2025% 028 118

HMEMDEHE

PAEKERER HEIS

8-33

ERIRS

2-210

FRIE Y <2F-26>
S-P-F HiE28k

PRI Y <2F-26>
S-P-F HIE2%R

LERES

2-210

625 Y5 2E~vd

N8 25 6 FE~TE

1.5 x 245 1{Q) L s
T = 17860, OOi.A_' =0.02Nmm2 fs =0 66Nmn 2

1.5 x 347.4(Q)

17860.00(a) 002

T o= fs = 0 96N/'me 2

EER haRMN BER | h&aEMN
1)£227.51 1613.9 / 1070,% 11 [221
2)1682.5] 1613.9 / 1070 & 21 [682.5]1 1613.9 / 1070 4§
3;01023.8] 1184 / 832 3)[1023.8] 9.4 /812
5 (AEIEER / hAEN 5 (MEIEER / hAEN
[BABR] Fs=) 8N/mm"2 . Kd=1.10 . Kz=1 0 [eAmE] Fs=1 8N/mn2 . ¥d=1.60 . Kz=1 0
1.5 x 1948.7(Q) i 5 15 x 1948.7(Q) 5 5
E = =01 =0 ‘mm"2 T= =0.16 g = (. U6N/mr"?
17860, 00 (A 0.16N‘mm"2  fs 66N.mr 17860 00(A) 0.184/mm"2  fs U6Nmr
WEL =016 -066=025 <100 - - 0K WEL =016 .-09%=017 = 100 - - 0K
[8(F] Fb=21.6N/mm 2 . Kd=1.10 . Kz=0.68 . Ks=1.00 [gBif] Fb=21. 68N/mm 2 = Kd=1.60 . Kz=0.68 . Ks=1.00
595625. 7(M 595625 7(Mm .
-0 = " =0 =7
699510.00(2) 0.85N/mm2 fb = 5 39N/mm"2 £99510 00(2) 0.85N/mm"2  fb 83N/mm"2
#®EL =0.85 - 539=016 < 1.00 - - -+ OK #®EL =08 78 =011 =10 - 0K
(#=t>#] 1=8219.3 . E=960.0 kN/cm 2 [#=t>+] 1=8219.3 , E=960 0 kN/cm'2
HEbHE = 0.28 emiRALOD 1/ 4000 5D 1.00 eml T HELDHE = 0.38 cniRAL@ 1 3000 D L00 emBlF
FXhHE = 00116 cm BXbHE = 00116 cm
0.0116 .~ 0.28=0.04 £ 1.00 - - - OK 00116 - 038=003 =100 ---0K
(ER12E145951
HBhHE = 0.46 cn(RADD 1) 250 cmL T
BXf-Hd @ = 0.0154 cn
0.0154 .~ 0.46=0.03 = 1.00 - - - OK
”w o N =
BARCE- 115 Eam BARCE- 125 a3 RS
S-P-F HiE2%k 2-210 S-P-F ERfE2#k 2-210
K& Y4~ 10 0E Y 4 BB nE 15y A710,5,¥a~X:11 16, ¥4 BB W 350
3 4 1
|
| 1 | ! |
11571 / 1157,1 00,/ 66 15051 6.0/ 0.0
| |
| | | |
A pto2000 0 m A pto2000 0 m
e WER | fhARN e WER | fhARN
170 0.0] 897.2 /g9t 2 17[ 0.0] 1536.6 / 1536.6
2)1170.61 41.0 /a0 2/[170.6] 41.0 / 41.0
3)1620.61 67.0 / ET. 0 3)[620.6] 67.0 / 67.0
4)1682.81 151.9 / 151 ¢ 4)[682.5] 260.5 / 280.5
HS5| (Gl EER  chamN &5 (@ @FM  fchamn
[BABR] Fs=1 8/nm 2 = Kd=1.10 , Kz=1 0 [HABR] Fs=1.8N'mm 2 . Kd=1.80 ., Kz=1 0

[1=42d+] 1=8219 3 | F=960.0 kN/cm™2
HBbhHE = 045 omiRaN@ 1/ A
J\K-tHE = 00049 cm
0.0049 - 0.45=000 £ 100 - - -0k

2 200 emkl T

| 1=8219.3 |

®EL =002 - 066=003 =100 ---0K ®EL =003 .09 =003 = 1.00 - 0K
[#(F] Fb=21.6N/mm"2 . Kd=1.10 . Kz=0.6E . Ks=1.00 (] Fb=21.6N/mm"2 . Kd=1.60 . Kz=0.868 . Ksz=1.00
143581. 6(M = 213428.8({M ) ~
g = £99510,00(2) = 0.2IN'mm’2  fb = 5 39N/mmn"2 [ 899510 00(2) = 0.3IN‘am'2  fb = 7 83N/mmn"2
®ELk =021 - 530=004 £1.00 - --0K RELk =031 - 78 =00 =10 ---0K

E=960 0 kN./om™2
¥B-hHE = 0.60 omiRAVD 1
BXbHHE = 0.0073 cm

0.0073 .~ 0.60 =001 =100 - -

150 #v2 3 00 omLlF

s OK
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478 : 20254 02R8 118

HMEMDEHE

PAEKERER #HETIS

8-34

N g 7N o
BARQ2F- 1X2> el BARCLF- 1><X2> o8
S-P-F HiE2%k 2-210 S-P-F HFE2#K 2-210
I8 Yi~RB & Y2 & 18 A710,5,¥a~X:8 5 ¥2 I 3.8
2 ) 5 | 2 13 a &
. | | . . | | | .
969.5 / 969.5 534 ;B4 1546.0 / 1546.0 1769 7 11789
| ESAVE TN ] s | | ~ |
BER  haRN BER  haRN
11170.6] 40.9 / 40.9 11[170.6] 40.9 / 40.9
71682.5] 16 T67.2 21[682.5! 1286.9 | 1256.9
3:01365.0] 538.7 / 538.7 3)[1365.0] 865.3 / 865.3
4)[2047.8] 335.1 © 3351 4] [2047.5] 518.7 / 518.7
5)12559.4] 41,0 / 41,0 51255941 41.0 / 41.0
EF5 [DHHER | hAEN B2 (08288 haREN
[BAHF] Fs=1 8N/mm'2 . Kd=1.10 . Kz=1 0 (A8 Fs=1 aN‘am 2 . Kd=1.60 . Kz=1 0
15 x 914 0(Q! Z _ 15 x 1457 6iQ) Z ;
B =0 = 0. 66N/mn"2 £ = =01 = 0 96N/mr"?
17860, 00 (A 0.08N‘mm"2  fs = 0 66N/mm 17860 00(A) 0.12N/mm"2 s = 0 96N/mm
REL =008 066=012 <100 -+ -0K BREL =012 - 096=013 £ 1.00 -+ -0OK
[ghif] Fb=21.6N/mm"2 . Kd=110 . Kz=0 68 . Ks=1.00 [#1F] Fo=21.6N/am"2 , Kd=1.60 . Kz=0.68 . Ks=1.00
707873.1iM i X . 1134644, 7{M] . " . -
6995100021 C0IN‘am™2 b = 5 39N/mm"2 §99510.00(2) J62N/mm°2 b = 7 83N/mm"2
BEE =100 530 =019 = 1.0 - - 0K BEL =162 . 78=021 <100 -+ 0K
[#=t>d+] 128219 3 . E=960.0 kN/cm 2 [t=tod+] 1=B218.3 . E=960 0 kN/cm 2
BEbHE = 1.36 on(RALO 12000 52 200 ekl T BBtbhHE = 1.82 cmi RN 1/ 150 D 300 emblF
BmKi=t#HE = 00733 cm BKi=tHHE = 01175 cm
00733 .~ 1.36=005<100 - -0K 01175 . 1.82 =006 <100 - - - OK
”w g N o
BARQ2F- 22<X1> 8@ BARCLF- 25<X1> e RS
S-P-F HiE2%k 2-210 S-P-F HiE28K 2-210
B2 Yd~¥01 M. ¥4 86 8 15y H2 Yd~X01 34 Y 4 BB o 3.5
1 4
| . | . .
1148.8 /11488 0.0/ &0 1890.0 / 1850.0 &0, 0.0
| |
| | | |
A pto2000 0 m A pto2000 0 m
e WEM | fhARN e WEM | hARN
1)00.0] 888.9 / 888.9 17[0.0] 1521.6 / 1521.6
7)0170.81 41.0 /41,0 2 [170.6] 41,0 41,0
3)1620.6] 67.0 / 6.0 31[620.6] 67.0 / 67.0
4)1682.5] 151.9 /151, 9 4)[682,5] 260.4 | 260.4
&5 [GFEEM  thamN &5 [(aFEEM  hamN
(B ABR] Fs=1.8N/mm 2 | Kd=1.10 ., Kz=1 0 [ ABR] Fs=1.8N'mm 2 , Kd=1.60 , Kz=1 0
15 x 245 0({Q) 15 x 347.3(Q)
. 0{a) | i . iy - 3(Q) | i e
T 1786000 (A 0.024/mm2  fs = 0 66N/mn 2 T 1786000 (A 0.03'mm2 fs =0 G6N ar 2
REL =002 -066=003 <710 - 0K REL =003 .- 096=003 = 1.00 -+ 0K
[gRIF] Fb=21.6N/am"2 . Kd=1 10 . Kz=0.868 . Ks=1.00 [EBif] Fb=21. 6N/mm"2 . Kd=1.60 . Kz=0.68 . Ks=1.00
143546. 7(M i ) L 213365. 1 (M ) ~
g = £99510.00(2) =0.2IN'mm" 2 fb = 5 39N/mmn"2 g = 899510 00(2) =0.31N'mm"2  fb =7 83N'mmn"2
REL =021 -539=004 100 - -+0OK REL =031 - 78 =004 =10 - 0K
[t=42d+] 1=821%.3 = E=960.0 kN/om 2 t=hadr] 1=8219 3 . E=90 0 kN /cm™2
¥BEbhME = 0.45 om(RAL@ 1/ 200 A 200 emklF BB hHE = 0.60 omi RN 1/ 1500 A2 3 00 emilF
J\K=tHE = 0.0049 cm J\KRi=t#HE = 0.0073 cm
0.0049 .~ 0.45=0.01 < 1.00 - - - Ok 00073 .- 0.60=001 =100 -+ -0K




HAHES 16787 5<4< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 118

HEEMDEE
BHAKERER #ETEHE 8-35

BARCE- <2 amm BARCF- < e
S-P-F ERFE24R 2-210 S-P-F BFE28% 2-210
£2 Yd~id 12 o8 154 §2 Ya~%d Y2 O 360

7634 ;7834 1946.0 / 1546.0 N4 /11769

AV ) | | y |

EER haRMN EER haRMN

11170.6] 40.9 / 40.9 [170.6] 40.9 | 40.9
2)1682.61 T61.2 / 7672

M
21[682.5! 1286.9 | 1256.9
3:01365.0] 538.7 / 538.7 3)[1365.0] 865.3 / 865.3
4)[2047.8] 3351 4] [2047.5] 518.7 / 518.7
5)[2559. 4] 41,0/ 4 51[2555.4] 41.0 41,0
EF5 [DHHER | hAEN B2 (08288 haREN
[BAHF] Fs=1 8N/mm'2 . Kd=1.10 . Kz=1 0 (A8 Fs=1 aN‘am 2 . Kd=1.60 . Kz=1 0
15 x 914 0(Q! Z _ 15 x 1457 6iQ) Z ;
B =0 = 0. 66N/mn"2 £ = =0.1 = 0 96N/mr"2
17860, 00 1A ) 0.08N‘mm"2  fs = 0 66N/mm 17860 00(A) 0.12N/mm"2 s = 0 96N/mm

REL =008 - 066=0.12 100 - - 0K WEL =012 096 =013 £ 1.00 - - -0K

[ghif] Fb=21.6N/mm"2 . Kd=110 . Kz=0 68 . Ks=1.00
707873.1(M
699510.00(2"

WELk =100 - 5630=019 = 100 - - - OK

[gfif] Fb=21 6N/mm 2 . Kd=1.60 . Kz=0.68 . Ks=1.00
] ) - 1134644. 7(Mm)
= 1LO0IN‘am'2  fb = 5 39N/mm"2 * 609510.00(2)
RELL =162 78=021 £10 -+ 0K

= 1L.62N'am2  fb =7 83N/mmn"2

[#=4>2+] 128219 .3 . E=960.0 kN/cm 2 [#=to+] 1=621%.3 | E=960 0 kN/cm'2
HEf-bHE = 1.36 oniRALO 1) 2000 D 200 emBl T HBEEbHE = 1.82 cniRAL@ 1 1500 5D 300 emBlF
BXbHHE = 00733 cm

BXbHE = 01175 cm
0.0733 - 1.36 =005 <100 - - +-0OK 9.1175  1.82 =006 < 1. 00 - - - OK

RHFF Y- 1D smm KAIZYL2F- DO

Mg RS

S-P-F EHRIE28K 3-210 S-P-F HiE28K 3-210

L Yd~vD

S YaTD

2162.6 ¢ 2UEZE
|
|

£0.01 1811 /1811

{113.8] 1.5 / §1.5

311485.01 115.0 / 115.0

411810.01 115.0 / 115.0

§111365.0] 115.0 / 115.0

6)11820.0] 3145.8 = 31458

7)12275.0] 115.0 / 115.0
8)12730.0] 115.0 / 115.0

29049 ;19 9

A 12236400 mm 542073640, 0 mm
HEM | hamm HEM  hAamN

1[3185.01 115.0 / 115.0 000011871 1811 [3185.0] 115.0 / 1150

1[3526.3] 51.5 / 51.8 2)[(113.8] 67.5 | §1.6 1[3526.3] 51.5 / 51.5

3)[485.01 115.0 / 115.0

4)[910.0] 115.0 / 115.0

§)[1365.0] 115.0 / 115.0

6)[1820.0] 5004.6 & 5004, 6

7)[2275.0] 115.0 / 115.0

©

s
S

&5 [G@IgEA  EhARN 8)[2730 0] 1150 / 115.0 5 [a@gFM | FbHEN
[ ABF] Fs=1 8N/am"2 | Kd=1.10 , Kz=1.0 (B ABR] Fs=1 8N/am 2 . Kd=1.60 . Kz=1 0
1.5 x 1975.5(@) 1.5 x 2904.9(Q)
= ickanat ‘am” = 2 = =0 168N/mn = (0 GENnm ?
T 3679000 (A 0.1N/mm2  fs = 0 66N/'mn 2 26790.00(A) 0. 18N/mm°2  fs = 0 D6N/mr 2

WEE =011 - 066=017 £ 1.0 - - 02K REL = 0.16 .- 0.96 =017 = 1.00 - - - QK

TenF) Foo21 B2 . Kd=1 10 |, Kz=0 66 . Ks=1 15 TEBiF] Fo-2i BN 2 . Kd=1 60 | Kz=0 66  Ks=1 15
3183270 0 (w1 4874759 5(01)
S 2 b= 6 10N/ N M), A s
1049270 00(z) o OSWmz fb = 6 10Nne2 o 46N b= 9 01N

10492700002
REL =303 .-619=049 = 1.00 + + - OK 1REL =465 .- 901 =052 = 1.0 ---0K

g =

[t=d2d+] 1512329 0, F=960 0 kN'cm™2

HBbHME =121 en(RAD@ 1/ 3000 A2 200 emBlF
BX=bH&E = 03215 cm

0.3215 212012026 =100 - - - OK

[F=dad+] 1=12328.0 . =960 0 kN/cm™2

HBELLME =1 62 cn(RAL@ 1/ 2250 HD 300 emBlUF
BmK-tHHE = 04869 cm

04869 .~ 1.62 =030 <100 - - +-0OK




HAES 16787 5<H< Ver 2.0.0.3 build 20250116 %178 : 20254 028 118
BEMDEE
A RERER #HETSH 8-36

RIEY 2F- DO sm FH#IEYF- DO e
S-P-F &2}k 3-210 S-P-F EFE2%k 3-210

LZE@EY Y~Y0 NLEEY Yd~YD

Z 8223640, 0 m : R 8223640, 0 mn 2
EER haRMN BER | haEMN

RN 91(3185.01 215.4 | 215.4 91(3185.01 215.4 | 215.4
21113.81 48.2 1 492 101352631 49.2 / 49.2 D138 492 492 101 (3526 31 492 | 49,2
31145507 215.4 / 215.4 3)[455.0] 215.4  215.4
4191007 215.4 | 215.4 481001 2154 /2154
5)(1365.0] 215.4 / 215.4 5)(1365.07 215.4 | 215.4
§)11820.0] 2877.5 | 28775 £)(1820.0] 44063 / 44063
7)12275.01 2164/ 215.4 70227501 2154 / 2154
8127300 215.4 | 215.4 B8 (0 IHEE  LhARN £)[2730,0] 215.4 / 215.4 BE (08388 hARN
[ ABR] Fs=1 8N/mm 2 . Kd=1.10 . Kz=1 0 (2 AME] Fs=1 8/mm°2 , Kd=1 60 , Kz=1 0
goad 32;(79(2).133:2;:0:_ 0.12Nan2  fs = 0 66N/mn 7 = "!’26’(79;322‘:2":0'— 0.16N‘an2  fs = 0 96N/mn"?
BEL =012 .-066=018 <100 - - -OK BAEL =016 .- 096=017 <100 - - -OK
[#81F] Fb=21 BN/mn'2 . Kd=1 10 . Kz=0. 6B . Ks=1.15 (#8141 Fo=21. 6N/mn 2 . Kd=1.60 . Kz=0 68 . Ks=1.15
?(2)4;32 goMz = 3.06N/mn’2  fb = & 10N/AR"2 g = "1(6)3323(2) (7)0Mz = 4.3N/mm’ 2 fb =9 0IN/mm"2
HEL =306 - 619=049 = 1.00 - - - OK HELL =439 901 =049 £1.00 - - - 0K
[#<hd] 1212329.0 . E=960 0 kN/cm 2 [#2hrds] 1=12329.0 . E=960. 0 kN/om'2
UBbHE = 1,21 eniRAD@ 1 300 D 200 emklF HBbHE = 1,62 cniRAL@ 1 225 D B00 emBlF
JKi=to#HE = 03330 cm BXI-t#HHE = 0 4690 cm
0.3330 .~ 1.21 =027 £ 100 - - - OK 04690 .~ 1,62 =029 =100 - - - OK

RABY - DO il FHIEYF- DO —
S-P-F HIE2#k 3-210 S-P-F BiE2%K 3-210

YIEY &0~ 15 Yt X0~K26

WER | hARN ' WER | fhBRN
113.81 575 51.5
455,01 115.0 / 115.0

{113.8] 1.5 / §1.5
2)1485.01 115.0 / 115.0

m
2
31191001 115.0 / 115.0 3/1910.01 115.0 / 115.0
4)11365,01 115.0 / 115.0 4][1365,0] 115.0 / 115.0
5)71820.0] 3229.4  3229.4 5/[1820,0] 5140.4  5140.4
8)[2161.3] 57.5 / 57.5 6/[2161.3] 5.5 / 57.5
HS5| (Gl EER  cham N &5 (@ @EFM  chamn
(B ABR] Fs=1. 8N/am 2 | Kd=1.10 , Kz=1 0 [BABR] Fs=1 8N/mm2 . Kd=1.60 . Kz=1 0
1.5 x 2779.1(Q) i uiz 1.5 x 4307.8(Q; i =
26790.00:\" ; =0.16N'mm2 fs =0 66N/mn 2 26790.00:’_‘A_- =0.24N'mm2 fs =0 96N/mmn"2
WEL =016 .-066=024 £ 100 - - 0K WEL =024 -09% =02 210 - 0K
[#HiF] Fb=21.6N/mm"2 . Kd=1 10 . Kz=0 6E . Ks=1.15 [#H] Fb=21. 6N/mm"2 , Kd=1.60 . Kz=0.6E . Ks=1.15
1244851 4imy . : 1940433 3(m) TN
95 a0 0(z] C19N/mm2 fb = 6 18N/an"2 O 048270 0002 L 85N/mm 2 fb = & 0IN/an"2
WELk =119 .- 6.19=0.19 £ 1.00 - - - OK WEL =18 901 =021 £10 .- -0K
[t=d2d+] 1=12329.0 , E=960.0 kN'cm™2 [F=d2d+] 1=12329.0 . E=9A0 0 kN/cm™2
HBfbhHE = 076 om(RaN@ 1/ A D 200 enBl T HEfhAHE =101 om RN 1) 225 A 300 el T
BRI E = 0 0460 cm J\X=h#HE = 0.0594 cm

0.0460 .- 076 =006 = 1 00 - - - QK 0.0694 - 1.01 =007 =100 -+ -0K




HH&S 16787

5<4< Ver 2.0.0.3 build 20250116 %47H : 2025% 028 118

HMEMDEHE

P X ERER

MEIR

8-317

XAFYLF- £O
S-P-F HiE28k

ERIRS

3-210

RHAIL YL~ HO
S—P-F HE2%R

LIRSS

3-210

LB GEY Y~YD

A i3=3640.0 m

KB EEY Yd~1D

12 3 4 H ! ) 9 o
c.“‘AiIO: 1 A

| A i3s=3640.0 m

EER haRMN EER haRMN
1E0.0] 1871 /1871 91[3185.01 115.0 / 1150 1NL0.0] 1871/ 181} 91[3185.0] 115.0 / 115.0
2)1113.81 51.5 /57,8 107 [3526.31 §1.6 / §1.5 2)[113,81 51,5 / 518 101[3526 31 575/ 57§
3)7455.0] 115.0 / 1150 3)[455.0] 1150 © 115.0
41791007 115.0 / 1150 4)[910.0] 1150 / 115.0
5)11365.0] 115.0 / 115.0 5)[1365.0] 115.0 / 115.0
61(1820.0] 43757 = 43757 6)[1820.0] 7030.9 « 7030.9
T1[2275.01 115.0 / 115.0 7)[2275.0] 115.0 / 115.0
8112730.0] 115.0 7 115.0 B (08 %ER / hAEN 8)[2730.0] 115.0 / 115.0 5 (MEIEER / -hAEN

[ ABF] Fs=1.8N/mn 2 . Kd=1.10 . Kz=1 0

_ 15 x 259 4(Q)
26790, 00 (A

BAEL =015 - 066=022 £ 1.00 « -

= 0.15N/‘mm"2  fz = O 66N/'mn"2

cOK

[@(F] Fb=21 6N/nn'2 . Kd=1 10
4302405 2 (M)

1049270 00{2)

B =410 2 6190686 = 1.00 - - - OK

. Kz=0 8B | Ks=1.15

=4 10N/mm"2  fb = & 16K /'nn"2

(B ABR] Fs=1 8N/mm"2 . Kd=1.60 . Kz=1 0
_ 1.5 x 3918.0(Q)_

26790 BO{A)

WEL =022 0.9 =023 £ 1.00 - -

0.22N'mm°2 s = 0. 96N/mr"?

cOK

Tanif ] Fh=21. 6N/nn 2 . Kd=1.60
6718679, 6 (M) :
¢ T eamar0.00(z) - &N 2

BEL =640 900 =071 £1.00 + - 0K

. Kz=0.68 | Ks=1.15

fb = & 0IN/ne"2

[f=td+] 1=12329.0 , E=960 0 kN/cm 2
HEbHE = 1.2] eniRALD 1/ 300
BXbHE = 04309 cm
0.4309 - 1.21 =036 =100 - - -0OK

o 200 emblF

[F=to+] 1=12325.0 , E=960 0 kN 'cm'2
BEbHE = 1.62 cmiRNVD 1) 225
BX=bHHE = 0.6671 cm

06671 2 1.62=041 <100 - - - OK

D 300 emblF

RHAIEYLF- 5O

ER RS

RHAILYL2F- 55O

Mg RS

S-P-F EHRIE28K

3-210

S-P-F HiE28K 3-210

EY Ya~v4

AEE L YE~YA

36804 /680, 4
|
A432-23640. 0 nm A432+=3640.0 nm |
HER ) hAaRM HER ) haRN
11113.81 57.5 / 51.5 91[3526.3/ 5715 875 10113.8] §7.5 | §7.5 91[3526.3] 51.5 / 51.5
2114550 115.0 /1150 10 [3640.01 187,10 /1871 2)[485.0] 115.0 / 115.0 10} [3640.01 187.1 / 187.1
311810.0] 115.0 7 115.0 3)[910.0] 1150 / 115.0
4)11385.01 115.0 © 115.0 4)[1385.0] 115.0 / 115.0
§(1820.0] 115.0 / 115.0 £)(1820.0] 5.0 / 115.0
6)[2275.0] 3081.8 | 3081.8 6)[2275.0] 4968.1 = 4968.1
7)12730.0] 115.0 / 115.0 7)[2730.07 115.0 © 115.0
8)[3185.07 115.0 / 115.0 &5 [G@GER  ~haMN 8)[3185 0] 115.0 ' 115.0 #8)[a@EEM | haMMN

[ ABR] Fs=1 8N/am"2 | Kd=1.10 , Kz=1 0

15 x 2314 4(Q)
26790. 00 (A

HEL =013 - 066=020 < 1.0 - -

=0.13N'am'2  fs = 0 66N/mn 2

cOK

(AR Fs=1 BN/mn 2 . Kd=1 60 . Kz=1 0

15 x 3493.3(Q)
26790.00 (A

HEL = 0.20 - 096 =02 < 100 - - - 0K

=0.20N'am'2 fs = 0 G6N/mn 2

[#A(F] Fo=21 6N/mm 2 . Kd=1 10
2930130 3{M)
1049270 00{2)
BELE =279 - 6192045 1.00 - - - OK

. Kz=0.6B . Ks=1.15

o= = 2. 79N/mn"2  fbo= 6 10N/np"2

[t=d2d+] 1512329 0, F=960 0 kN'cm™2

HBhHME =121 en(RAD@G 1/ 3000 HD 200 emBlTF
JmK=tHHE = 02924 cm

0.2924 .~ 1212024 =100 - - - OK

TET] Fo=21. 6N/nn 2 . Kd=1.60
4539364 1 (M) :
7 omzro oiz) | AN

®EL =433 - 901 =0.48 £ 1.00 - -

. Kz=0.68 . Ks=1.15
fbo= & 0IN/ar"2

< OK
[F=d2d+] 1=12329.0  E=9A0 O kN/cm™2

HBhME =1 62 cn(RAL@ 1/ 225 HD 300 emBlTF
BXbhHE = 0 4462 cm

04462 .~ 1.62 =028 =100 - - - OK




HAHES 16787 5<4< Ver 2.0.0.3 build 20250116 %f7H : 2025% 028 118

HMEMDFHE

PAEKERER FHETS

8-38

KFIEYQ2F- 65O £m s
S-P-F HRFE2%k 3-210

RAILYL2F- 65O . o9 %
S-P-F HRFE2#K 3-210

L TEEY Ya~vd

A #32=3640,0 mm
BER  haRN

4 16 YI~Ya

2 3 [} & [ a 9 o
| | | | | | | | |
19684 /14504 3444 1344 4

A #N1=3640.0 mm 3 |
EER haRMN

01i113.8]1 §7.5 / 51,5
2)1455.0] 115.0 / 115.0
3)[910.01 115.0 / 115.0
41[1365.0] 1150 / 115.0
5)[1820.0] 115.0 / 115.0
6:[2275.0] 115.0 / 1150
1112502.5] 3007.4 ' 3007.4
8112730.01 115.0 7 115.0

©

1[3185.0] 115.0 / 115.0
1[3526.3] §1.5 / §1.5

=

B2 (0F 288 haRN

1113.8] 1.5 / §1.5

2) (45501 115.0 / 115.0
3)[910.0] 115.0  115.0
4)[1365.0] 115.0 / 115.0
5)[1820.0] 115.0 / 115.0
6)[2275.0] 115.0 / 1150
7)[2502.5] 4922.6 ' 4922.6
8)[2730.0] 115.0 / 1150

L

[3185.01 115.0 / 115.0
[3526 31 §7.5 | §7.5

El

£S5 [DHIHER | hAEN

[t AMR] Fs=1 8N/mm 2 . Kd=1.10 . Kz=1 0
15 x 2527.7(Q) i 3
E= =01 g=10 ‘mm"2
26790, 00 (A} 0.14N‘mm"2 s = 0 66N/mm

WEL =014 -066=021 100 ---0K

[EBIF] Fh=21 6N/nn'2 . Kd=1 10 . Kz<0 68 . Ks=1 15
27116634 (M)

1049270 00{z)

B =256 619042 = 1.00 - - - OK

= 2.68N/mm"2  fb = & 16K /'nn %

(HA8R] Fs=1 8N/mm 2 | Kd=) 60 . Kz=10
1.5 x 3844 4(Q)

26790 (0(A)
WEL =022 - 0.9=022 <0100 - 0K

=0.22N'mm’2  fs = 0 96N/mn"2

{41 Fb=21.6N/nn'2 | Kd=1.60 . Kz=0.68 . Ks=1.15
4209451, 0(m) : = hinarga
Ot a0 oz S AN o= & 0MN/R2

REL =400 - 001 =045 =100 - - -0OK

[f=td+] 1=1232%.0 , E=960 0 kN/cm 2

BEi-bHE = 1.2 onlRaAO 1/ 3000 5D 200 emBl T
BKi=to#HE = 02682 cm

O.2662 1,20 =022 £ 100 - - - OK

[t=bhd] 1=12328.0 . E=960 0 kN,cm'2
BEbHE = 162 cm( R @ 1) 2250 D 500 emblF
BKR=tHHE = 04072 cm
0.4072 . 1.62=025 £ 100 - - - OK




